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chapter one: 

What is Cost Accounting 

 ِخ حٌّمقٛد رّلخعزش حٌىٍفش

There are several definitions of cost accounting, we can know them : 

Cost accounting is the process of collecting and interpreting 

information to determine how an organization earns and uses funds. 

Or cost accounting is a process of assigning costs to cost objects that 

typically include a company's products, services, and any other activities 

that involve the company. 

Or cost accounting is a process of collecting , analyzing, summarizing 

and evaluating various alternative courses of action. Its goal is to advise 

the management on the most appropriate course of action based on the 

cost efficiency and capability. 
 ٠ّىٓ طؼش٠ف ِلخعزش حٌظىخ١ٌف:

  ٟ٘ ػ١ٍّش ؿّغ حٌّؼٍِٛخص ٚطفغ١ش٘خ ٌظلذ٠ذ و١ف١ش وغذ حٌّئعغش ٌلأِٛحي ٚحعظخذحِٙخ.ِلخعزش حٌظىخ١ٌف 

ٓ ػخدسً ِٕظـخص حٌؾشوش ٚخذِخطٙخ  ٟ طظنّ ٓ حٌظىخ١ٌف ٌؼٕخفش حٌظىٍفش حٌظ ٟ ػ١ٍّش طؼ١١ أٚ ِلخعزش حٌظىخ١ٌف ٘
  حٌؾشوش. ٚأٞ أٔؾطش أخشٜ طظنّٓ

ُ ِخظٍف   ـٚطم١١ ً ٚطٍخ١ ٟ ػ١ٍّش ؿّغ ٚطل١ٍ ٛ طمذ٠ُ  هشقأٚ ِلخعزش حٌظىخ١ٌف ٘ حٌؼًّ حٌزذ٠ٍش. ٘ذفٙخ ٘
 .حٌظىٍفش خر١ٍشرٕخءً ػٍٝ وفخءس ٚل (ٌٍؼًّ )حوؼش هش٠مش ِلاثّشحٌّؾٛسس ٌلإدحسس رؾؤْ أٔغذ ِغخس

Advantages of cost accounting: 

There are multiple advantages to using cost accounting 

1- provide vastly more actionable information than the financial 

statements produced through financial accounting. 

2- Determine where a company is spending its money, how much it 

earns, and where money is being lost. 

3- Determine the cost of the product and thus determine the selling 

price. 

4- Cost reduction and  ascertaining the profit of each activity. 

5- Provide detailed cost information that management needs to control 

current operations, make decisions and plan for the future.                       

                                                                       
َ ِلخعزش حٌظىخ١ٌف     ِلخعزش حٌظىخ١ٌف:)حٌفٛحثذ( ِضح٠خ   ٕ٘خن ِضح٠خ ِظؼذدس لاعظخذح

 حٌّخ١ٌش.طٛف١ش ِؼٍِٛخص أوؼش لخر١ٍش ٌٍظٕف١ز ِٓ حٌز١خٔخص حٌّخ١ٌش حٌّٕظـش ِٓ خلاي حٌّلخعزش  -1

ٓ طن١غ حلأِٛحي. -2 ٓ طٕفك حٌؾشوش أِٛحٌٙخ ، ٚوُ طىغذ ، ٚأ٠  طلذ٠ذ أ٠
ٟ طلذ٠ذ عؼش حٌز١غ. -3    طخف١ل حٌظىٍفش ٚحٌظؤوذ ِٓ سرق وً ٔؾخه. -4 طلذ٠ذ طىٍفش حٌّٕظؾ ٚرخٌظخٌ

ٟ طلظخؿٙخ حلإدحسس  -5 ٓ حٌظىٍفش حٌظ ٚحطخخر حٌلخ١ٌش  حٌشلخرش ػٍٝ حٌؼ١ٍّخص ِٓ حؿًطٛف١ش ِؼٍِٛخص ِفقٍش ػ
  حٌمشحسحص ٚحٌظخط١و ٌٍّغظمزً.
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the relationship between financial and management accounting to 

cost accounting 

1. Meaning- 

 a. Cost Accounting is the process of accounting for costs, 

from the very starting till the end of the reporting period. Reports are 

prepared at the end of the period in order to ascertain where the cost can 

be reduced or controlled. 

b. Management Accounting refers to the application of the accounting 

principles and financial management to create, protect, preserve and 

increase the value of an organization for its stakeholders. 

c. Financial Accounting is the art of recording, classifying, and 

summarizing the monetary transactions and events in a manner useful 

for the stakeholders to interpret the results thereof. 

2. Objective- 

a. Cost Accounting basically records the cost of producing a product or 

providing a service in which the business primarily deals. 

b. Management Accounting is performed in order to help the 

management make decisions by providing the relevant information. 

c. Financial Accounting is undertaken to prepare Profit and Loss 

Account and Balance Sheet for presentation to shareholders and other 

external users. 

3. Recording of Data — 

a. In Cost Accounting, data is recorded using both, past and present 

figures. 

b. Management Accounting focuses on the projection of data for the 

future. 

c. Financial Accounting records Historical data. 

4. Rules and Regulations — 

a. Cost Accounting follows certain principles and procedures for 

recording costs. 

b. Management Accounting does not follow any specific rules and 

regulations. 

c. Financial Accounting follows Accounting Principles, Accounting 

Standards and Financial Accounting Standards. 
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 ِخ ٟ٘ حٌؼلالش ر١ٓ حٌّلخعزش حٌّخ١ٌش ٚحلإدحس٠ش ِٚلخعزش حٌظىخ١ٌف؟

 -. حٌّؼ1ٕٝ

حٌظىخ١ٌف ، ِٓ حٌزذح٠ش ٚكظٝ ٔٙخ٠ش فظشس حٌظمش٠ش. ٠ظُ ػٓ  ّلخعزش حٌأ. ِلخعزش حٌظىخ١ٌف ٟ٘ ػ١ٍّش 

 اػذحد حٌظمخس٠ش فٟ ٔٙخ٠ش حٌفظشس ٌٍظؤوذ ِٓ اِىخ١ٔش خفل حٌظىٍفش أٚ حٌظلىُ ف١ٙخ.

د. طؾ١ش حٌّلخعزش حلإدحس٠ش اٌٝ ططز١ك ِزخدة حٌّلخعزش ٚحلإدحسس حٌّخ١ٌش لإٔؾخء ٚكّخ٠ش ٚكفع 

 ٚص٠خدس ل١ّش حٌّٕظّش لأفلخد حٌّقٍلش ف١ٙخ.

ؽ. حٌّلخعزش حٌّخ١ٌش ٟ٘ فٓ طغـ١ً ٚطق١ٕف ٚطٍخ١ـ حٌّؼخِلاص ٚحلأكذحع حٌٕمذ٠ش رطش٠مش 

 ِف١ذس لأفلخد حٌّقٍلش ٌظفغ١ش ٔظخثـٙخ.

 -. حٌٙذف2

أ. طغـً ِلخعزش حٌظىخ١ٌف رؾىً أعخعٟ طىٍفش أظخؽ ِٕظؾ أٚ طمذ٠ُ خذِش طظؼخًِ ف١ٙخ حلأػّخي 

 ىً أعخعٟ.رؾ

د. ٠ظُ طٕف١ز حٌّلخعزش حلإدحس٠ش ٌّغخػذس حلإدحسس ػٍٝ حطخخر حٌمشحسحص ِٓ خلاي طٛف١ش حٌّؼٍِٛخص 

 رحص حٌقٍش.

ؽ. ٠ظُ اؿشحء حٌّلخعزش حٌّخ١ٌش لإػذحد كغخد حٌشرق ٚحٌخغخسس ٚح١ٌّضح١ٔش حٌؼ١ِّٛش ٌٍؼشك ػٍٝ 

 حٌّغخ١ّ٘ٓ ٚحٌّغظخذ١ِٓ حٌخخسؿ١١ٓ ح٢خش٠ٓ.

 - . طغـ١ً حٌز١خٔخص3

 أ. فٟ ِلخعزش حٌظىخ١ٌف ، ٠ظُ طغـ١ً حٌز١خٔخص رخعظخذحَ وً ِٓ حلأسلخَ حٌغخرمش ٚحٌلخ١ٌش.

 د. طشوض حٌّلخعزش حلإدحس٠ش ػٍٝ اعمخه حٌز١خٔخص ٌٍّغظمزً.

 ؽ. عـلاص حٌّلخعزش حٌّخ١ٌش حٌز١خٔخص حٌظخس٠خ١ش.

 -. حٌمٛحػذ ٚحٌٍٛحثق 4

 ظغـ١ً حٌظىخ١ٌف.أ. طظزغ ِلخعزش حٌظىخ١ٌف ِزخدة ٚاؿشحءحص ِؼ١ٕش ٌ

 د. لا طظزغ حٌّلخعزش حلإدحس٠ش أٞ لٛحػذ ٚأٔظّش ِلذدس.

 ؽ. طظزغ حٌّلخعزش حٌّخ١ٌش ِزخدة حٌّلخعزش ِٚؼخ١٠ش حٌّلخعزش ِٚؼخ١٠ش حٌّلخعزش حٌّخ١ٌش.

 

the difference between cost, expense and loss 

In accounting, though all three words that is cost, expense and loss 

represents outflow of funds from the company to outside world, 

however there is a difference in the manner in which the outflow of 

funds or cash happens. 

 

is a resources given up in exchange for some goods and services,  ostC

includes both expired and deferred cost, Expired cost is the cost that has 

been already incurred, while deferred cost is one which has been 

incurred but its economic benefit is not received, such as prepaid 

expense or expenditure on research and development are some of the 

examples of deferred cost. 
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includes only expired cost which is used up in earning  An expense

revenues in a company‘s main operations. In other words it is a cost with 

a matching economic benefit during a particular period, such advertising 

and rent etc…. 

 

of money lost by a company."  is defined as "an amount A loss While

This can be in the form of revenue, assets, or even customers, Hence loss 

is outflow of funds without any matching economic benefit.  
ٓ حٌظىٍفش ٚحٌّقشٚفخص ٚحٌخغخسس؟  ِخ حٌفشق ر١

 ٟ ْ حٌىٍّخص حٌؼلاع حٌظ ٝ حٌشغُ ِٓ أ ً طذفك فٟ حٌّلخعزش ، ػٍ ً حٌظىٍفش ٚحٌّقشٚفخص ٚحٌخغخسس طّؼ طّؼ
 ٚ ٟ ٠لذع رٙخ طذفك حلأِٛحي أ ٟ حٌطش٠مش حٌظ ْ ٕ٘خن حخظلافخً ف ٟ ، الا أ ٝ حٌؼخٌُ حٌخخسؿ حلأِٛحي ِٓ حٌؾشوش اٌ

 حٌٕمذ.
 

ً ولاً ِٓ حٌظىٍفش حٌّٕظ١ٙش حٌقلاك١ش  ٟ ػٕٙخ ِمخرً رؼل حٌغٍغ ٚحٌخذِخص ، ٚطؾّ ُ حٌظخٍ ٟ ِٛحسد ط حٌظىٍفش ٘
ٟ  حٌّغظٕفزسٚحٌّئؿٍش ، ٚحٌظىٍفش ظٕفزس( )حٌّغ ْ حٌظىٍفش حٌّئؿٍش ٘ ٓ أ ً ، فٟ ك١ ُ طىزذ٘خ رخٌفؼ ٟ ط ٟ٘ حٌظىٍفش حٌظ

 ً ُ حعظلاَ ِٕخفؼٙخ حلالظقخد٠ش ، ِؼ ُ ٠ظ ٟ طُ طىزذ٘خ ٌٚىٓ ٌ خ أٚ ٔفمخص حٌّقشٚفخص حٌحٌظىٍفش حٌظ ًِ ّذفٛػش ِمذ
ٟ رؼل أِؼٍش حٌظىٍفش حٌّئؿٍش. ٝ حٌزلغ ٚحٌظط٠ٛش ٘  ػٍ

 

ٓ حٌّقشٚفخص حٌظىٍفش طظن ٟ حٌؼ١ٍّخص حٌشث١غ١ش حٌّغظٕفزس ّ ُ حعظخذحِٙخ فٟ وغذ حلإ٠شحدحص ف ٟ ٠ظ فمو ٚحٌظ
ً )ِّخػٍش( ِٕغـّش ِؼٙخ ٌٍؾشوش. رؼزخسس أخشٜ ، أٙخ طىٍفش رحص فخثذس حلظقخد٠ش  خلاي فظشس ِؼ١ٕش ، ِؼ

ٝ رٌه.  حلإػلاْ ٚحلإ٠ـخس ِٚخ اٌ
 

ٝ أٔٙخ "ِزٍ ُ طؼش٠ف حٌخغخسس ػٍ ٟ ؽىً ا٠شحدحص أٚ ر١ّٕخ ٠ظ ْ ٠ىْٛ ٘زح ف ٗ حٌؾشوش". ٠ّىٓ أ ٓ حٌّخي طن١ؼ غ ِ
ٞ فخثذس حلظقخد٠ش  ٟ طذفك حلأِٛحي دْٚ أ ٟ فبْ حٌخغخسس ٘ ٚ كظٝ ػّلاء ، ٚرخٌظخٌ )ِّخػٍش( ِٕغـّش أفٛي أ

 .ِؼٙخ

Elements of cost 

3. Expenses and 2. Labor,  1. Materials The elements of cost are: 

Overheads 

―The material cost is the cost of commodities supplied to  1. Materials:

an undertaking‖ Materials cost is of two types: 

(a) Direct materials cost, and 

(b) Indirect materials cost. 

(a) Direct Materials Cost: 

Direct material cost is ―The cost of materials entering into and becoming 

constituent elements of a product or saleable service‖. Thus, materials 

which can be identified with units of output or service are known as 

direct materials. 

Cotton used in production of cloth, leather used in the case of production 

of leather goods and lime in the production of chalk, etc., are the 
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examples of direct materials. Any materials purchased and used for a 

specific job are also direct materials. 

(b) Indirect Materials Cost: 

―Materials used for the product other than the direct materials are called 

indirect materials. In other words, materials cost which cannot be 

identified with a specific product, job, process is known as indirect 

material cost. 

Small tools, stationery used in works, office stationery, advertising 

posters, and materials used in maintenance of plant and machinery are a 

few examples of indirect materials. 
 ػٕخفش حٌظىٍفش

 :ٟ  . حٌّقخس٠ف 3ٚ. حٌؼّخٌش ، 2. حٌّٛحد 1ػٕخفش حٌظىٍفش ٘
 حٌٕفمخص حٌؼخِش

ٟ طىٍفش حٌغٍغ حٌّٛسدس اٌٝ طؼٙذ" طىٍفش ح1ٌّٛ ٓ:. حٌّٛحد: "طىٍفش حٌّٛحد ٘  حد ِٓ ٔٛػ١
 )أ( طىٍفش حٌّٛحد حٌّزخؽشس ، ٚ

 )د( طىٍفش حٌّٛحد غ١ش حٌّزخؽشس.
 )أ( طىٍفش حٌّٛحد حٌّزخؽشس:

ٚ خذِش لخرٍش ٌٍز١غ".  ً ٚطقزق ػٕخفش ِىٛٔش ٌّٕظؾ أ ٟ طذخ ٟ "طىٍفش حٌّٛحد حٌظ طىٍفش حٌّٛحد حٌّزخؽشس ٘
ٚ حٌ ٟ ٠ّىٓ طلذ٠ذ٘خ رٛكذحص حلإٔظخؽ أ ٟ ، فبْ حٌّٛحد حٌظ  خذِش طؼُشف رخٌّٛحد حٌّزخؽشس.ٚرخٌظخٌ

ٟ أظخؽ  ٟ أظخؽ حٌمّخػ ، ٚحٌـٍٛد حٌّغظخذِش فٟ كخٌش أظخؽ حٌّقٕٛػخص حٌـٍذ٠ش ٚحٌـ١ش ف ٓ حٌّغظخذَ ف حٌمط

 ٟ ُ ؽشحإ٘خ ٚحعظخذحِٙخ ٌٛظ١فش ِؼ١ٕش ٘ ٟ أِؼٍش ػٍٝ حٌّٛحد حٌّزخؽشس. أٞ ِٛحد ٠ظ ٝ رٌه ، ٘ حٌطزخؽ١ش ، ِٚخ اٌ
 أ٠نًخ ِٛحد ِزخؽشس.

 طىٍفش حٌّٛحد غ١ش حٌّزخؽشس:)د( 
"حٌّٛحد حٌّغظخذِش ٌٍّٕظؾ رخلاف حٌّٛحد حٌّزخؽشس طغّٝ حٌّٛحد غ١ش حٌّزخؽشس. رّؼٕٝ آخش ، طؼُشف طىٍفش 

ٚ ٚظ١فش أٚ ػ١ٍّش رخعُ طىٍفش حٌّٛحد غ١ش حٌّزخؽشس. ٟ لا ٠ّىٓ طلذ٠ذ٘خ رّٕظؾ ِؼ١ٓ أ  حٌّٛحد حٌظ
لأػّخي ، ٚحٌمشهخع١ش حٌّىظز١ش ، ٚحٌٍّقمخص حلإػلا١ٔش ، حلأدٚحص حٌقغ١شس ، ٚحٌمشهخع١ش حٌّغظخذِش فٟ ح

ٝ حٌّٛحد غ١ش حٌّزخؽشس.  ٚحٌّٛحد حٌّغظخذِش فٟ ف١خٔش حٌّقخٔغ ٚح٢لاص ٟ٘ أِؼٍش ل١ٍٍش ػٍ

2. Labor:  

Labor is the remuneration paid for physical or mental effort expended in 

production and distribution. 

―The labor cost is the cost of remuneration (wages, salaries, 

commissions, bonus, etc.) of the employees of an undertaking‖ 

Labor cost is also divided into direct and indirect portions: 

(a) Direct Labor Cost: 

It is also called ‗Direct-wages‘. Direct labor cost is the cost of labor 

directly engaged in production operations. E.g., workmen engaged in 

assembling parts, carpenters engaged in furniture making, etc. 

(b) Indirect Labor Cost: 

indirect labor cost is the remuneration paid for labor engaged to help the 

production operations, e.g., inspectors, watchmen, sweepers, store 
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keepers, etc. The remuneration paid to these persons cannot be traced to 

a job, process or production order. The labour costs of idle time, 

overtime, holidays, etc., are also taken as indirect costs. Similarly, 

clerical and managerial staff, salesmen, distribution employees are also 

included in the orbit of ‗indirect labour‘. 
2:ً  . حٌؼّ

ٟ حٌّٕفك فٟ حلإٔظخؽ ٚحٌظٛص٠غ. ٟ أٚ حٌؼمٍ ً حٌـٙذ حٌزذٔ ٛ حلأؿش حٌزٞ ٠ذُفغ ِمخر  حٌؼًّ ٘

ٝ رٌه( ٌّٛظفٟ "طى ٟ طىٍفش حلأؿش )حلأؿٛس ، ٚحٌّشطزخص ، ٚحٌؼّٛلاص ، ٚحٌّىخفآص ، ِٚخ اٌ ٍفش حٌؼّخٌش ٘
 حٌؾشوش"

ٝ أؿضحء ِزخؽشس ٚغ١ش ِزخؽشس: ُ طىٍفش حٌؼّخٌش أ٠نًخ اٌ  طٕمغ
 )أ( طىٍفش حٌؼّخٌش حٌّزخؽشس:

ٟ طىٍفش حٌؼّخٌش  حٌّؾخسوش ِزخؽشس فٟ ػ١ٍّخص ٠ٚغّٝ أ٠نًخ "حلأؿٛس حٌّزخؽشس". طىٍفش حٌؼّخٌش حٌّزخؽشس ٘

ٟ فٕخػش حلأػخع  ْ فٟ طـ١ّغ حلأؿضحء ، ٚحٌٕـخسْٚ حٌؼخٍِْٛ ف ً حٌّؼخي ، حٌؼّخي حٌّٕخشهٛ حلإٔظخؽ. ػٍٝ عز١
ٝ رٌه.  ، ِٚخ اٌ

 )د( طىٍفش حٌؼّخٌش غ١ش حٌّزخؽشس:
ً حٌؼّخٌش حٌّغظخذِش ٌّغخػذس ػٍّ ُ دفؼٗ ِمخر ٞ ٠ظ ٟ حلأؿش حٌز ١خص حلإٔظخؽ ، ػٍٝ طىٍفش حٌؼّخٌش غ١ش حٌّزخؽشس ٘

ٓ اسؿخع  ٝ رٌه. لا ٠ّى ْ ، ٚحٌلشحط ، ٚػّخي حٌٕظخفش ، ٚكخفظٛ حٌّظخؿش ، ِٚخ اٌ ً حٌّؼخي ، حٌّفظؾٛ عز١
ٝ ٚظ١فش أٚ ػ١ٍّش أٚ أِش أظخؽ. طىخ١ٌف حٌؼّخٌش ٌٛلض حٌخّٛي ، ٚحٌؼًّ  حٌّىخفؤس حٌّذفٛػش ٌٙئلاء حلأؽخخؿ اٌ

ٝ رٌه ، طئخز  ٓ حلإمخفٟ ، ٚحلإؿخصحص ، ِٚخ اٌ ُ أ٠نًخ طن١ّ ً ، ٠ظ أ٠نًخ ػٍٝ أٔٙخ طىخ١ٌف غ١ش ِزخؽشس. ٚرخٌّؼ
ً غ١ش حٌّزخؽش". ٓ ٚحٌزخػش ِٚٛظفٟ حٌظٛص٠غ فٟ ِذحس "حٌؼّ ٓ ٚحلإدحس١٠ ٓ حٌىظخر١١  حٌّٛظف١

3.Expenses: 

Expenditure other than material and labor is the third element of cost. 

It is defined as- ―The cost of service provided to an undertaking and the 

notional cost of the use of owned assets‖. 

Expenses are of two types: 

(a) Direct expenses, and 

(b) Indirect expenses. 

(a) Direct Expenses: 

These are the expenses which can be directly identified with a unit of 

output, job, process or operation. They are specifically incurred for a 

job, or unit or process and in no way they are connected with other jobs 

or processes. The direct expenses are also known as chargeable 

expenses. 

examples are   Cost of special patterns, designs or plans for a particular 

job or work order, etc. 

(b) Indirect Expenses: 

Indirect expenses are expenses other than indirect material and indirect 

labor, which cannot be directly identified with units of output, job, 

process or operation. These expenses are incurred commonly for jobs 
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and processes. E.g., rent, power, lighting, depreciation, bank charges, 

advertising, etc. 
 

 حٌّقشٚفخص: -3
ٟ حٌؼٕقش حٌؼخٌغ ٌٍظىٍفش.حٌٕفمخص رخلاف حٌّٛ  حد ٚحٌؼّخٌش ٘

ٗ ن ُ طؼش٠ف ٝ طؼٙذ ٚحٌظىٍفش حلافظشحم١ش لاعظخذحَ حلأفٛي حٌٍّّٛوش". -٠ظ  "طىٍفش حٌخذِش حٌّمذِش اٌ

:ْ  حٌّقشٚفخص ٔٛػخ
 حٌّزخؽشس ، ٚ حٌّقخس٠ف)أ( 

 )د( حٌّقخس٠ف غ١ش حٌّزخؽشس.
 )أ( حٌّقخس٠ف حٌّزخؽشس:

ٟ ٠ّىٓ طلذ٠ذ٘خ  ٟ حٌٕفمخص حٌظ ُ طىزذ٘خ ٘زٖ ٘ ً ِزخؽش ِغ ٚكذس حلإٔظخؽ أٚ حٌٛظ١فش أٚ حٌؼ١ٍّش أٚ حٌؼ١ٍّش. ٠ظ رؾى
ً ِٓ حلأؽىخي رٛظخثف أٚ ػ١ٍّخص أخشٜ. طؼُشف  ً خخؿ ٌٛظ١فش أٚ ٚكذس أٚ ػ١ٍّش ٚلا طشطزو رؤٞ ؽى رؾى

 حٌّقخس٠ف حٌّزخؽشس أ٠نًخ رخٌّقشٚفخص حٌّلٍّش.
ٚ حٌخطو حٌخ ٚ حٌظقخ١ُِ أ ً ، اٌخ.حلأِؼٍش ٟ٘ طىٍفش حلأّٔخه أ  خفش ٌٛظ١فش ِؼ١ٕش أٚ أِش ػّ

 )د( حٌّقخس٠ف غ١ش حٌّزخؽشس:
 ٓ ٟ لا ٠ّى حٌّقشٚفخص غ١ش حٌّزخؽشس ٟ٘ ِقشٚفخص أخشٜ غ١ش حٌّٛحد ٚحٌؼّخٌش غ١ش حٌّزخؽشس ، ٚحٌظ

ٖ حٌٕفمخص ػخدس ٌٍٛظخثف  ُ طىزذ ٘ز ٚ حٌظؾغ١ً. ٠ظ ٚ حٌؼ١ٍّش أ ً ِزخؽش رٛكذحص حلإٔظخؽ أٚ حٌٛظ١فش أ طلذ٠ذ٘خ رؾى
ً حٌّؼخي ، حلإ٠ـخس ، حٌطخلش ، حلإمخءس ، حلاعظٙلان ، حٌشعَٛ حٌّقشف١ش ، حلإػلاْ ، اٌخ.ٚحٌؼ ٝ عز١  ١ٍّخص. ػٍ

Classification of Cost 

Costs can be classified based on the following:- 

1. Classification according to Nature ( materials, Labor, overhead). 

2. Classification according to Functions (Production cost, Selling and distribution 

cost, Administration costs).    

3. Classification according to traceability of product. (direct and indirect).        

4. Classification according to change in volume of activity. (Fixed, Variable and 

Simi variable).  

 

 طق١ٕف حٌظىٍفش

 :ٟ  -٠ّىٓ طق١ٕف حٌظىخ١ٌف ػٍٝ أعخط ِخ ٠ٍ

 . حٌظق١ٕف كغذ حٌطز١ؼش )حٌّٛحد ، حٌؼّخٌش ، حٌٕفمخص حٌؼخِش(.1

 . حٌظق١ٕف كغذ حٌٛظخثف )طىٍفش حلإٔظخؽ ، طىٍفش حٌز١غ ٚحٌظٛص٠غ ، طىخ١ٌف حلإدحسس(.2

 طظزغ حٌّٕظؾ. )ِزخؽش ٚ غ١ش ِزخؽش(. . حٌظق١ٕف كغذ3

  .(ِظغ١شؽزٗ حٌظق١ٕف كغذ حٌظغ١ش فٟ كـُ حٌٕؾخه. )ػخرض ، ِظغ١ش ٚ.4

1- Classification according to Nature:    In this type, costs are divided into Direct 
materials, Direct labor and overheads. 

materials that directly enter into the production of are the raw Direct materials 
the product unit and can be traced and allocated to the product unit such as 
cotton, leather, wood, aluminum, iron, etc. 

The direct labor cost is the cost of workers who can be easily   Direct labor cost
identified with the unit of production. An example of the direct labor cost the 
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wages of production line workers and the assembly workers on an assembly line 
and Selling agents commission 

 It includes indirect materials, indirect wages, and other expenses: Overheads
which can be divided into, consumables, packing materials, and spare parts etc.. 
this is for the material.  As for the indirect labor cost, it includes salaries, 
supervisors' wages, and maintenance workers' wages etc. As for other expenses, 
they include depreciation, rent, insurance, transportation, loading, water and 
electricity expenses etc.      

ٝ ِٛحد ِزخؽشس ٚػّخٌش ِزخؽشس ٚٔفمخص ػخِش. -1 ُ حٌظىخ١ٌف اٌ ٟ ٘زح حٌٕٛع طمغ      حٌظق١ٕف كغذ حٌطز١ؼش: ف

ً ِزخؽشس فٟ أظخؽ ٚكذس حٌّٕظؾ ٠ّٚىٓ طظزؼٙخ ٚطخق١قٙخ ٌٛكذس  ٟ طذخ ٟ حٌّٛحد حٌخخَ حٌظ حٌّٛحد حٌّزخؽشس ٘
َ ٚحٌلذ٠ذ ، اٌخ. ٓ ٚحٌـٍٛد ٚحٌخؾذ ٚحلأ١ٌّٕٛ ً حٌمط  حٌّٕظؾ ِؼ

ٓ ٠ّىٓ حٌظؼشف ػ١ٍُٙ رغٌٙٛش ِٓ خلاي طىٍف ٟ طىٍفش حٌؼّخي حٌز٠ ش حٌؼّخٌش حٌّزخؽشس طىٍفش حٌؼّخٌش حٌّزخؽشس ٘
ٟ خو حٌظـ١ّغ  ٝ طىٍفش حٌؼّخٌش حٌّزخؽشس أؿٛس ػّخي خو حلإٔظخؽ ٚػّخي حٌظـ١ّغ ف ٚكذس حلإٔظخؽ. ِؼخي ػٍ

 ٚػٌّٛش ٚولاء حٌز١غ
ً حٌّٛحد غ١ش حٌّزخؽشس ٚحلأ ٟ ٠ّىٓ طمغ١ّٙخ حٌٕفمخص حٌؼخِش: ٚطؾّ ؿٛس غ١ش حٌّزخؽشس ٚحٌّقشٚفخص حلأخشٜ حٌظ

ٝ رٌه. ٚ٘زح خخؿ رخٌّٛحد. أِخ طىٍفش حٌؼّخٌش غ١ش حٌّزخؽشس  ٝ ِٛحد حعظٙلاو١ش ِٚٛحد طؼزجش ٚلطغ غ١خس ِٚخ اٌ اٌ
 ً ٓ ٚأؿٛس ػّخي حٌق١خٔش ٚغ١ش٘خ. أِخ حٌّقخس٠ف حلأخشٜ فٟٙ طؾّ ٓ حٌشٚحطذ ٚأؿٛس حٌّؾشف١ فظظنّ

ٖ ٚحٌىٙشرخء ٚغ١ش٘خ.حلإ٘لان ٚحلإ٠ ً ِٚقخس٠ف ح١ٌّخ ً ٚحٌظل١ّ ٓ ٚحٌٕم  ـخس ٚحٌظؤ١ِ

2. Classification according to Functions: Classification by function involves 
classifying costs as production/manufacturing costs, administration costs or 

marketing/selling and distribution costs. 
In a ‗traditional‘ costing system for a manufacturing organization, costs are 

classified as follows: 
. These are costs associated with the factory.Production or manufacturing costs 

. These are costs associated with general office Administration costs
departments. 

. These are costs associated with Marketing, or selling and distribution costs
sales, marketing, and warehousing and transport departments. 

ٚ طىخ١ٌف حلإدحسس أٚ  ٝ أٔٙخ طىخ١ٌف حلإٔظخؽ / حٌظق١ٕغ أ ٓ حٌظق١ٕف كغذ حٌٛظ١فش طق١ٕف حٌظىخ١ٌف ػٍ ٠ظنّ
 ٌظغ٠ٛك / حٌز١غ ٚحٌظٛص٠غ.طىخ١ٌف ح

 
َ طمذ٠ش حٌظىخ١ٌف "حٌظم١ٍذٞ" ٌّئعغش  ٟ:حٌفٟ ٔظخ ٛ حٌظخٌ ُ طق١ٕف حٌظىخ١ٌف ػٍٝ حٌٕل  ظق١ٕغ ، ٠ظ

 

ٟ حٌظىخ١ٌف حٌّشطزطش رخٌّقٕغ. ٘ ٖ ٚ حٌظق١ٕغ. ٘ز  طىخ١ٌف حلإٔظخؽ أ
ٟ حٌظىخ١ٌف حٌّشطزطش ربدحسحص حٌّىظذ حٌؼخَ.  طىخ١ٌف حلإدحسس. ٘زٖ ٘

ٓ ٚحٌٕمً. طىخ١ٌف حٌظغ٠ٛك أٚ ٖ ٟ٘ حٌظىخ١ٌف حٌّشطزطش رخٌّز١ؼخص ٚحٌظغ٠ٛك ٚألغخَ حٌظخض٠  حٌز١غ ٚحٌظٛص٠غ. ٘ز
 

 
 

3. Classification according to traceability of product: Direct costs and indirect 
costs, 

https://en.wikipedia.org/wiki/Assembly_line
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A direct cost is a cost that can be traced in full to the product, service, or 
department that is being costed. 

An indirect cost (or overhead) is a cost that is incurred in the course of making a 
product, providing a service or running a department, but which cannot be traced 

directly and in full to the product, service or department. 
Materials, labor costs and other expenses can be classified as either direct costs or 

indirect costs 
Direct material costs are the costs of materials that are known to have been 

used in making and selling a product (or even providing a service).  
Direct labor costs are the specific costs of the workforce used to make a product 

or provide a service. Direct labor costs are established by measuring the time 
taken for a job, or the time taken in ‗direct production work‘ 

Other direct expenses are those expenses that have been incurred in full as a 
direct consequence of making a product, or providing a service, or running a 

department. 
Examples of indirect costs include supervisors‘ wages, cleaning materials and 
buildings insurance 

 حٌظىخ١ٌف حٌّزخؽشس ٚحٌظىخ١ٌف غ١ش حٌّزخؽشس
ُ كغخد طىٍفظٗ. ُ حٌزٞ ٠ظ ٚ حٌخذِش أٚ حٌمغ ٟ ٠ّىٓ طظزؼٙخ رخٌىخًِ ٌٍّٕظؾ أ ٟ حٌظىٍفش حٌظ  حٌظىٍفش حٌّزخؽشس ٘

ُ طىزذ ٟ ٠ظ ٟ حٌظىٍفش حٌظ ٚ حٌظىٍفش غ١ش حٌّزخؽشس )أٚ حٌٕفمخص حٌؼخِش( ٘ ٚ طمذ٠ُ خذِش أ ٘خ فٟ ع١خق فٕغ ِٕظؾ أ
ٚ حٌخذِش أٚ حٌمغُ. ً ِزخؽش ٚوخًِ ٌٍّٕظؾ أ ٓ طظزؼٙخ رؾى ُ ، ٌٚىٓ لا ٠ّى ً لغ  طؾغ١

ٚ طىخ١ٌف غ١ش  ٠ّىٓ طق١ٕف حٌّٛحد ٚطىخ١ٌف حٌؼّخٌش ٚحٌّقشٚفخص حلأخشٜ اِخ ػٍٝ أٔٙخ طىخ١ٌف ِزخؽشس أ
 ِزخؽشس

ٟ طىخ١ٌف حٌّٛحد حٌظ ٝ طىخ١ٌف حٌّٛحد حٌّزخؽشس ٘ ٟ فٕغ ٚر١غ ِٕظؾ )أٚ كظ ٟ ِٓ حٌّؼشٚف أٔٙخ حعظخذِض ف
ُ خذِش(.  طمذ٠

ُ طلذ٠ذ  ُ خذِش. ٠ظ ٜ حٌؼخٍِش حٌّغظخذِش ٌقٕغ ِٕظؾ أٚ طمذ٠ ٟ حٌظىخ١ٌف حٌّلذدس ٌٍمٛ طىخ١ٌف حٌؼّخٌش حٌّزخؽشس ٘
فٟ طىخ١ٌف حٌؼّخٌش حٌّزخؽشس ػٓ هش٠ك ل١خط حٌٛلض حٌّغظغشق ٌٍلقٛي ػٍٝ ٚظ١فش ، أٚ حٌٛلض حٌّغظغشق 

ً حلإٔظخؽ حٌّزخؽش"  "ػّ
ُ طىزذ٘خ رخٌىخًِ وٕظ١ـش ِزخؽشس ٌقٕغ ِٕظؾ أٚ  ٟ ط ٟ طٍه حٌّقشٚفخص حٌظ حٌّقشٚفخص حٌّزخؽشس حلأخشٜ ٘

ٚ ادحسس لغُ. ُ خذِش أ  طمذ٠

ٓ حٌّزخٟٔ ٓ ِٚٛحد حٌظٕظ١ف ٚطؤ١ِ ً أِؼٍش حٌظىخ١ٌف غ١ش حٌّزخؽشس أؿٛس حٌّؾشف١  طؾّ
 

4. Classification according to change in volume of activity: Classification by 
behaviour, this refers to the classification of cost according to how the costs 

react/vary with output levels. It means, based on the activity level or the outputs 
produced, costs can be classified as fixed or variable. 

It mainly relates to time or period. It remains unchanged irrespective  - Fixed cost
of volume of production like factory rent, insurance, etc 

 Variable cost directly associates with unit. It increases or  - Variable cost
decreases according to the volume of production. Direct material and direct labor 

are the most common examples of variable cost. It means the variable cost per unit 
remains constant irrespective of production of units 
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 -d and partfixe-Many items of expenditure are part - variable cost-Semi
variable and hence are termed semi-fixed or semi-variable costs. 

 
ً / حخظلاف حٌظىخ١ٌف ِغ ِغظ٠ٛخص  حٌظق١ٕف كغذ حٌغٍٛن ٝ طق١ٕف حٌظىٍفش ٚفمخً ٌى١ف١ش طفخػ ٠ؾ١ش ٘زح اٌ

ٝ ِغظٜٛ حٌٕؾخه أٚ حٌّخشؿخص حٌّٕظـش ، ٠ّىٓ طق١ٕف حٌظىخ١ٌف ٟ ، رٕخءً ػٍ ٝ أٔٙخ ػخرظش  حلإٔظخؽ. ٚ٘زح ٠ؼٕ ػٍ
 أٚ ِظغ١شس.

ً  -حٌظىٍفش حٌؼخرظش   ُ حلإٔظخؽ ِؼ ٝ دْٚ طغ١١ش رغل حٌٕظش ػٓ كـ ٟ رخٌٛلض أٚ حٌفظشس. ٠زم ً أعخع طظؼٍك رؾى
ٓ ِٚخ اٌٝ رٌه  ا٠ـخس حٌّقٕغ ٚحٌظؤ١ِ

 
 ـكغذ كـُ حلإٔظخؽ. حٌّٛحد  -حٌظىٍفش حٌّظغ١شس  حٌظىٍفش حٌّظغ١شس ِشطزطش ِزخؽشس رخٌٛكذس. ٠ض٠ذ أٚ ٠ٕم

ً ٚكذس  ٟ أْ حٌظىٍفش حٌّظغ١شس ٌى ٟ أوؼش حلأِؼٍش ؽ١ٛػًخ ٌٍظىٍفش حٌّظغ١شس. ٘زح ٠ؼٕ حٌّزخؽشس ٚحٌؼّخٌش حٌّزخؽشس ٘
ً ػخرظش رغل حٌٕظش ػٓ أظخؽ حٌٛكذحص  طظ

ٗ حٌّظغ١شس  ٟ ؿضء ػخرض ٚؿض -حٌظىٍفش ؽز ٗ  ءحٌؼذ٠ذ ِٓ رٕٛد حلإٔفخق ٘ ٟ ٠طٍك ػ١ٍٙخ طىخ١ٌف ؽز ِظغ١ش ، ٚرخٌظخٌ
ٚ ؽز  ٗ ِظغ١شس.ػخرظش أ

sCost Center 
 

Cost center is a place to which costs can be traced or segregated. The cost center 

can be a department , a division, a responsible person, a production line or  a 

project. Managers of cost centers are responsible for keeping their costs in line or 

below budget. 

شعبة  مركز التكلفة هو المكان الذي ٌمكن تتبع التكالٌف أو فصلها. ٌمكن أن ٌكون مركز التكلفة قسمًا أو
تتمثل مسؤولٌة مدراء مراكز الكلفة فً بقاء الكلف و او خط انتاجً او مشروع. شخصًا مسؤولاً  او

ة.المخططالكلف  من  ادنىمستوى او  نفس المناطة بهم فً  

Cost centers can be divided into:- ويمكن  ان نقسم مراكز الكلف الى 

 production centers. كز الانتاج امر  

  production services centers. كز خدمات الانتاج امر  

  marketing services centers. كز خدمات التسوٌقامر   

 administration services centers.  كز الخدمات الادارٌةامر  

 finance process centers. مراكز عملٌات التموٌل  

Examples of cost centers: the IT department, quality control department, the 
accounting department. 

قسم مراقبة الجودة ، وقسم المحاسبة مراكز التكلفة: قسم تكنولوجٌا المعلومات ، و على أمثلة  

Cost units:- A cost unit is a unit of a product or a service to which costs can be 
traced. For example, for a manufacturer of laptop computers, a cost unit would be a 

laptop. For a bus company, a cost unit could be a bus journey. 
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The unit of cost is determined for: 

•Work out the cost of providing product or service 

•Work out the resources needed, material, labor and other expenses to make 
or supply the unit. 

. على سبٌل المثال ، بالنسبة لشركة تصنٌع أجهزة هاهً وحدة لمنتج أو خدمة ٌمكن تتبع -وحدات الكلفة: 
بالنسبة لشركة الحافلات  ٌمكن أن ٚ محمولال كمبٌوترالالكمبٌوتر المحمولة ، ستكون وحدة التكلفة هً جهاز 

 .الواحدة تكون وحدة التكلفة رحلة الحافلة
ُ طلذ٠ذ ٚكذس حٌظىٍفش   :ِٓ حؿ٠ًظ

 • ٚ ُ حٌّٕظؾ أ ٝ طلذ٠ذ طىٍفش طمذ٠  حٌخذِشحٌؼًّ ػٍ
ٝ حٌّٛحسد حٌلاصِش •  ٚ  طىٍفش حٌؼًِّٛحد ِٚٓ حٌؼًّ ػٍ  حٌٛكذس. طى٠ٛٓٚحٌّقشٚفخص حلأخشٜ لإٔؾخء أ

 
xercisesEQuestions and  

Questions 

 
1- deified cost accounting?   
2- What is the relationship between financial and management accounting to 

cost accounting? 
3- What is the difference between cost, expense and loss? 

4- What are the cost elements? explain them in detail 
5-What are the main classifications of costs? 

 

Exercises 
Exercise 1:- Classification of costs by nature and functions.     

           
Wages of factory security guards                                 350 000 

Paper for the office computers                                       21 000 
Commission of salesmen                                              800 000 

Deprecation of machines                                                15 000 
Interest on bank overdraft                                               10 250 

Chief accountants salary                                               250 000  
Advertising expenses                                                       50 000 

                 16 000 000     Leather for bags 
            26 000 000                   Wages of workers                                    

Shipping and transportation of materials                       200 000 
Electricity bill for heating and lighting the factory         30 000 
Lubricant to clean the machines in the factory               15 000 

 
Exercise 2:- Classification of costs by nature , functions, degree of traceability of 

the product and by change in activity. 
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Raw materials  15000 000,                        Packing material 50 000,        
Manufacturing wages 20 000 000,            Advertising expenses 180 000,  

Deprecation of furniture 12 000,               Indirect wages 1250 000,           
Commission of salesmen 550 000.            Oil 17500,                                     Wages 

of production services 4 750 000,  Stationary 50 000,                             Wages of 
employs production 10000,       Supervisory wages 1 650 000,   Administrative 

expenses 190 000,             Rent of building 600 000,                    Salary of manager 
plant 500 000,              Indirect  materials 1 3250 000,   

 
Exercise 3 :- Classification of costs by nature , functions, degree of traceability of 

the product and by change in activity. 
 

Main material used in production                   $100 000 000 
Other materials used in production                       9 000 000  

Tools write and print for management                       32 000  
Direct wages related in production                        1 500 000  
Wages supervisor on production                           4 100 000  

Commission of salesmen                                       3 000 000   
Salaries of management staff                                 4 000 000  

Depreciation of building                                             10 000 
Insurance on factory building                                     30 000 

Rent equipment and machines in factory                 160 000  
Expense of water and electricity in factory                12 500 

Rent of sell exhibition                                              250 000 
Exercise 4 :- Classification of costs by nature , functions, degree of traceability of 

the product and by change in activity. 
 

Raw material                                               81 000 000 
Workmen wages of production                 219 000 000  

Salaries of store keepers                              350 000  

power related in production                             500 000  

Transportation and loading of  goods                 49 000  
Bonus of office staff                                          600 000  

Warehousing expenses of goods                        200 000 
Insurance on Manufacturing employees             100 000 

Equipment and machines deprecation                  10 000  
Maintenance and repair wages                            120 000 

Workmen wages of assembling parts             20 000 000  
                                             

 
Exercise 5 :- Classification of costs by  functions and by change in activity. 

 
Direct wages                         50 000 000              
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Spare parts                                   70 000              
Direct material                       35 000 000                                                             Rent 

of plant                             1000 000  
Management expenses                  43 000  

Advertising expenses               1 200 000  
Salaries of staff                         8 000 000  

Salary of general manager        1 700 000                                                     Lighting 
expenses of office           15 000   

 
 

 Exercise 6:- Classification of costs by nature and degree of traceability of the 
product. 

 
Raw materials                                45 000 000  

Packing material                                   90 000         
Manufacturing wages                  220 000 000             
Deprecation of furniture                       21 000                

Commission of salesmen                   650 000             
Oil and  Lubricant                                35 000                        

Wages of Maintenance and repair      750 000   
Wages of employs marketing           1000 000        

Supervisory Bonus                             680 000    
Administrative expenses                    300 000                       
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chapter two: 

material control 
انًىاديرالثح   

material:is the cost of incoming goods for the industrial organization and it forms 

an essential part of the final product and includes the materials used in 
manufacturing, assembly and recycling, An important part of the process is 

production, so the process does not take place if the materials are not available in 
the quantity, quality and appropriate time. It can be divided into three groups when 

they are received by the organization.  
 

 Raw materials such as cotton in the manufacture of clothing. 

 Semi-finished materials, for example, unpainted furniture. 

 Finished materials  :spare parts. 

ٟ طىٍفش ح ً حٌّٛحد  ٌغٍغحٌّخدس: ٘ ٟ ٚطؾّ ً ؿضءًح أعخع١خً ِٓ حٌّٕظؾ حٌٕٙخث حٌٛحسدس ٌٍّئعغش حٌقٕخػ١ش ٚطؾى

ٟ حٌظق١ٕغ ٚحٌظـ١ّغ ٚاػخدس حٌظذ٠ٚش ،  ُ حٌؼٍّٟ ٘ٛ حلإٔظخؽٚؿضء ُِٙ ِٓ حٌؼ١ٍّش ٚحٌّغظخذِش ف  ، ٌزٌه لا طظ

ٟ طغظٍّٙخ ٠ّىٓ طمغ١ُٚارح وخٔض حٌّٛحد غ١ش ِظٛفشس رخٌى١ّش ٚحٌـٛدس ٚحٌٛلض حٌّٕخعذ.  حلأظخؿ١ش  حٌّٕظّش حٌّٛحد حٌظ

 ٝ   .ػلاع ِـّٛػخصحٌ

ٓ فٟ فٕخػش حٌّلارظ. ً حٌمط  حٌّٛحد حٌخخَ ِؼ

ً حلأػخع غ١ش حٌّطٍٟ. ٗ حٌّقٕؼش ، ِؼ    حٌّٛحد ؽز

   غ غ١خس: لطحٌّىظٍّشحٌّٛحد 

MATERIAL CONTROL SYSTEM َظاو يرالثح انًىاد 

Material form an important part of the cost of product and therefore, proper control 
over materials is necessary, an efficient system of materials control will lead to a 

significant reduction in production cost.  
 ْ ٟ ، فب خ ِٓ طىٍفش حٌّٕظؾ ، ٚرخٌظخٌ ًّ ً حٌّٛحد ؿضءًح ِٙ ، ٚع١ئدٞ  شحٌّٛحد مشٚس٠ ػٍٝ شحٌّٕخعزحٌشلخرش طؾى

َ حٌ ٝ حٔخفخك وز١ش فٟ طىٍفش ػٍٝ شلخرشفؼخي ٌٍحٌٕظخ .حلإٔظخؽ حٌّٛحد اٌ  
 
The functions of the material control system are:            وظائف َظاو يرالثح انًىاد

 Purchasing of materials ؽشحء حٌّٛحد 

 Receiving of materials حعظلاَ حٌّٛحد 

  Inspection of materials فلـ حٌّٛحد 

 Storage of materials طخض٠ٓ حٌّٛحد 

 Issuing of materials افذحس حٌّٛحد 

 Maintenance of stores record ْحٌّخخص ً  ِغه عـ

 Stock audit    طذل١ك حٌّخضْٚ
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MATERIAL CONTROL SYSTEM اهذاف َظاو يرالثح انًىاد 

Materials control basically aims at efficient purchasing of materials, their efficient 
storing and efficient use or consumption. Materials control consists of controls at 

two levels: Quantity controls and   Financial controls. 
ٟ اٌٝ حٌؾشحء حٌفؼخي ٌٍّٛحد ٚطخض٠ٕٙخ رىفخءس ٚحعظخذحِٙخ أٚ حعظٙلاوٙخ  ً أعخع ُ فٟ حٌّٛحد رؾى ٠ٙذف حٌظلى

ٓ: ػٍ حٌشلخرشطظىْٛ ِشحلزش حٌّٛحد ِٓ ٚرىفخءس.  ( حٌّخ١ٌش.2( سلخرش و١ّش ٚ )1)ٝ ِغظ١٠ٛ  
 

Purchase process   عًهيح انشراء       
Materials may be purchased based on the size of the concern, nature of materials to 

be used, nature of operations and management polices etc.  
A large companies have a separate purchase department while all functions  are 

managed by the owner himself on a small companies. 
  

ُ حعظخذحِٙخ ٚهز١ؼش حٌؼ١ٍّخص ٚع١خعخص حلإدحسس   ح١ّ٘ش ٠ّىٓ ؽشحء حٌّٛحد رٕخءً ػٍٝ ٟ ع١ظ ٚهز١ؼش حٌّٛحد حٌظ
ً ر١ّٕطّظٍه ٚ .ِٚخ اٌٝ رٌه ً حٌّخٌه حٌؾشوخص حٌىز١شس لغُ ِؾظش٠خص ِٕفق ُ ادحسس ؿ١ّغ حٌٛظخثف ِٓ لز خ طظ

ٗ فٟ حٌؾشوخص حٌقغ١شس .ٔفغ  

 
Documentary cycle of the purchase process انذورج انًسرُذيح نعًهيح انشراء 

 
 Bill of Materials. خٌّٛحدلخثّش ر     

 Purchase Requisition. هٍذ حٌؾشحء   
 Selection of Suppliers. حخظ١خس حٌّٛسد٠ٓ   

 Purchase Orders. أٚحِش حٌؾشحء   
 Goods Received Note. اؽؼخس حعظلاَ حٌزنخثغ   

 Inspection of Materials.  ـحٌّٛحد  فل  
 

 
Issuing of materials انًىاد  اصذار)صرف(  
It is the quality of every good system of materials control that no materials can be 

issued from store except on properly prepared and approved materials requisitions.  
The materials requisition is a written order to the storekeeper to deliver materials 

or supplies to the place and the department designated or to given the materials to 
the person presenting a properly executed requisition.  

 
 ْ ٓ حٌّخضْ رذٚ ٞ ِٛحد ِ ٗ لا ٠ّىٓ افذحس أ هٍزخص حٌّٛحد حٌّؼذس ٠ظ١ّض ٔظخَ ِشحلزش حٌّٛحد حٌفؼخي رؤٔ

ً فل١ق    .ٚحٌّؼظّذس رؾى
ٛ أِش ِىظٛد لأ١ِٓ حٌّ ٓ أٚ اػطخء  خضْهٍذ حٌّٛحد ٘ ُ حٌّٛحد أٚ حلإِذحدحص اٌٝ حٌّىخْ ٚحٌمغُ حٌّؼ١ ٌظغ١ٍ

ً فل١ق ٖ رؾى ُ طٕف١ز َ هٍزخً ط  ـحٌزٞ ٠مذ ٝ حٌؾخ  .حٌّٛحد اٌ
 

 

Pricing of materials Issues   الصادرة تسعير المواد  
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After determining the quantity of material issued to each job for production 
purposes during a particular period, it is necessary to calculate its value for cost 
accounting purposes, since almost every material is purchased at different times 
at different rates and is mixed together, it is very difficult to ascertain the actual 
value of the material issued for production purposes, Therefore, we must find 
ways to price these materials. 

رؼذ طلذ٠ذ و١ّش حٌّٛحد حٌقخدسس ٌىً ٚظ١فش لأغشحك حلإٔظخؽ خلاي فظشس ِؼ١ٕش ، ِٓ حٌنشٚسٞ كغخد 
ً ِخدس طمش٠زخً فٟ أٚلخص ِخظٍفش رّؼذلاص  ٗ ٠ظُ ؽشحء و ل١ّظٙخ لأغشحك ِلخعزش حٌظىخ١ٌف ، ٔظشًح لأٔ

ُ خٍطٙخ ِؼخً ،   ,دسس لأغشحك حلإٔظخؽحٌظؤوذ ِٓ حٌم١ّش حٌفؼ١ٍش ٌٍّٛحد حٌقخ ؿذح ّٓ حٌقؼذفِخظٍفش ٠ٚظ
ٖ حٌّٛحد ْ ٔـذ هشلخً ٌظغؼ١ش ٘ز  . ٌزٌه ، ٠ـذ أ

 

Methods Of Pricing Materials Issues طرق ذسعير انًىاد انًصذرج 

There are various methods in use of pricing issues of materials from store. The 

selection of suitable method is significant  from the viewpoint of cost absorbed and 

consequently on profit. Therefore, the method should be selected in the light of 

probable effects on profit over a period of years. 

Material is purchased specially for a job. The material issued is charged to the job 

at its landed cost. Landed cost include the invoice price, freight, cartage and 

insurance charges on materials. Issue of such items cannot be linked with a 

particular 'lot' and therefore, exact landed cost of the particular unit issued cannot 

be identified. If the purchase price for each lot is different from that of the others, 

the question arises as to which purchase should be taken into consideration for 

pricing material issues. 

َ لنخ٠خ طغؼ١ش حٌّٛحد ِٓ حٌّ  ٠ؼذ حخظ١خس حٌطش٠مش حٌّٕخعزش أِشًح  خضْ, ٕٚ٘خن هشق ِخظٍفش فٟ حعظخذح

خ ِٓ ٚؿٙش ٔظش حٌظىٍفش حلا ًّ ٟ مٛء حٌظؤػ١شحص  ؿّخ١ٌشِٙ ٝ حٌشرق. ٌزٌه ، ٠ـذ حخظ١خس حٌطش٠مش ف ٟ ػٍ ٚرخٌظخٌ
ٝ ِذٜ فظشس ِٓ حٌغٕٛحص.  حٌّلظٍّش ػٍٝ حٌشرق ػٍ

ً حٌّٛحد حٌقخدسس ػٍٝ  ُ طل١ّ ُ ؽشحء حٌّٛحد خق١قًخ ٌٍؼًّ. ٠ظ ً طىٍفش عؼش ٚخ. رظىٍفش ٚفٌٛٙ حلاِش ٠ظ طؾّ
 ـ"دفؼش"  ً ٘زٖ حٌؼٕخفش ر ٓ ػٍٝ حٌّٛحد. لا ٠ّىٓ سرو افذحس ِؼ ً ٚسعَٛ حٌظؤ١ِ ٓ ٚحٌٕم حٌفخطٛسس ٚسعَٛ حٌؾل

 ً ٟ ، لا ٠ّىٓ طلذ٠ذ حٌظىٍفش حٌذل١مش ٌٛكذس ِؼ١ٕش فخدسس. ارح وخْ عؼش حٌؾشحء ٌى ِخظٍفخً  دفؼشِؼ١ٕش ، ٚرخٌظخٌ
ْ حٌغئحي حٌزٞ ٠طشف ٔفغ ٓ ح٢خش ، فب ٟ حلاػظزخس رخٌٕغزش ٌظغؼ١ش ػ ْ ٠ئخز ف ٞ ٠ـذ أ ٗ كٛي حٌؾشحء حٌز

  .حٌّٛحد حٌقخدسس
Some important and mostly used methods of pricing are as follows. 

1. First In First Out(FIFO) Method ِخ ٠شد أٚلاً ٠قشف أٚلاً .....هش٠مش    

2. Last In First Out(LIFO) Method آخشح ٠قشف أٚلاً...  هش٠مش ِخ ٠شد  

3. Weight Average Method(WAM) هش٠مش حٌّؼذي حٌّٛصْٚ....   

1 -First in First out Method (FIFO) ًهش٠مش ِخ ٠شد أٚلاً ٠قشف أٚلا 
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Under this method materials are used in the order in which they are received. 

In other words, materials received first are issued first. This process is repeated 

throughout. 

The price of the earliest consignment is taken first and when that is exhausted, the 

price of the next consignment is adopted and so on. This method is most suitable 

for use where the material is slow moving and has comparatively high unit cost 

This method is also useful in times of falling prices because the issue price of 

material to the job will be high while the replacement cost of material will be 

below. 

َ حٌّٛحد ُ حعظخذح ُ افذحس حٌّٛحد  رّٛؿذ ٘زٖ حٌطش٠مش ، ٠ظ ٝ آخش ، ٠ظ ُ حعظلاِٙخ رٗ. رّؼٕ رخٌظشط١ذ حٌزٞ ٠ظ

 حٌّغظٍّش أٚلاً. طظىشس ٘زٖ حٌؼ١ٍّش هٛحي حٌٛلض.

ٝ رٌه. ٘زٖ  ُ حػظّخد عؼش حٌؾلٕش حٌظخ١ٌش ِٚخ اٌ ُ حعظٕفخد رٌه ، ٠ظ ٝ أٚلاً ٚػٕذِخ ٠ظ ُ أخز عؼش حٌؾلٕش حلأٌٚ ٠ظ

ْ حٌّخدس ٟ حلأٔغذ ٌلاعظخذحَ ػٕذِخ طىٛ ٘زٖ حٌطش٠مش  رط١جش حٌلشوش ٌٚٙخ طىٍفش ٚكذس ػخ١ٌش ٔغز١خً. حٌطش٠مش ٘

 ٝ ْ طىٍفش  حٌطٍز١شِف١ذس أ٠نًخ فٟ أٚلخص حٔخفخك حلأعؼخس لأْ عؼش افذحس حٌّٛحد اٌ ع١ىْٛ ِشطفؼخً ر١ّٕخ طىٛ

   .حعظزذحي حٌّٛحد ألً

Example:- Show the Stores Ledger entries  for the month of Jan, 2018 as they 
would appear when using FIFO method: 

-Jan. 1 was the balance of materials 500 units @ $ 3 .  

-Jan.2 Purchased 300 units @ $.3 per unit and paid the transportation expense $ 300 .  

-Jan.3 Purchased 600 units @$4 per unit and paid commission and taxes $ 600   

-Jan.6 Issued 600 units. 

-Jan. 10 Purchased 700 units @ $4 per unit and paid the transportation expense $ 350 .  

-Jan. 15 Issued 850 units. 

-Jan.20 Purchased 300 units @ $ 5 per unit and paid commission and transportation $ 
300. 

-Jan.23 Issued 100 units. 

-Jan. 25 return 50 units the materials issued Jan. 15 . 

Required ; 1- prepare item card  

                 2- journalize the transactions . 

Solution example - 

1-Bin card (FIFO) 
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Date Received (purchasing ) Issued Balance 
Quantity price amount Quantity price amount Quantity Price amount 

Jan. 1       500 3 1500 
Jan. 2 300 4 1200    800 500 * 3 

300 * 4 

2700 

Jan. 3 600 5 3000    1400 500 * 3 
300 * 4 
600 * 5 

5700 

Jan. 6    600 500*3 

100*4 

1900 800 200 * 4 

600 * 5 

3800 

Jan.10 700 4.5 3150    1500 200 * 4 

600 * 5 
700*4.5 

6950 

Jan.15    850 200*4 
600*5 

50*4.5 

4025 650 4.5 2925 

Jan.20 300 6 1800    950 650*4.5 
300*6 

4725 

Jan.23    100 4.5 450 850 550*4.5 
300*6 

4275 

Jan.25    (50) 50*4.5 (225) 900 600*4.5 
300*6 

4500 

 1900  9150 1500  6150 900  4500 

 

2- journalize the transactions 
 

Journal Entry for an Inventory Purchase(Purchase Entry) 
-Jan.2 

 1200 Raw materials control 

                                  1200           Accounts payable  
 

Journal Entry for an Inventory Purchase(Purchase Entry) 
-Jan.3   

 3000 Raw materials control 
                          3000                            Accounts payable 

 
Move Raw Materials to Work in Process(Issue Entry )                                   -

Jan.6                                                                                                      Work-
in-process control             1900                                                                    -           

Raw materials control                    1900       

 

Journal Entry for an Inventory Purchase(Purchase Entry) 

-Jan.10   
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 3150 Raw materials control 
                          3150                           Accounts payable 

 
Move Raw Materials to Work in Process(Issue Entry )                                            

-Jan.51                                                                                                     
Work-in-process control             5201                                                                    

-           Raw materials control                    5201 

Journal Entry for an Inventory Purchase(Purchase Entry) 

-Jan.20   
 1800 Raw materials control 

                           Accounts payable                               1800 
 

Move Raw Materials to Work in Process(Issue Entry)                                      
-Jan.02                                                                                                     

Work-in-process control             510                                                                    
-           Raw materials control                      550 

Return the materials issued for stores(Return Entry) 

-Jan.25 
 225 Raw materials control 

            Work-in- process control                       225                                   
 
 

Stock Equation 
first Balance + (received – return to supplier)=(Issued- return to store) + end balance  

 حٌّذس حخش+سف١ذ  )حٌّشدٚدحص حٌٝ حٌّخضْ – حٌقخدس(=  حٌّشدٚدحص حٌٝ حٌّـٙض٠ٓ(   –حٌٛحسد  (ّذس +حٌ ٚيسف١ذ ح
 1500 + 9150                      =            4500 + 6150 

            10650                     =            10650            
 

2.Last in First Out Method: (LIFO) ٠قشف حٚلاً  حخشحً هش٠مش حٌٛحسد   

    This method is exactly the opposite of FIFO method. Under this  materials 

received last are issued first. The price of the material to be issued would the cost 

price of the last lot of materials purchased. 

This method is useful during to period of rising prices because materials will be 

issued from the latest consignment a price which is closely related   to the current 

price levels. Under this method product' cost is calculated on a basis which 

approximates to replacement cost. 

ٟ ػىظ هش٠مش  ٘زٖ حٌطش٠مش ٘FIFO خ. رّٛؿذ ًِ ٟ طُ حعظلاِٙخ ٘زٖ حٌطش٠مش فخْ طّخ ُ   حخشح حٌّٛحد حٌظ ٠ظ

ٛ عؼش طىٍفش آخش دفؼش ِٓ حٌّٛحد ٚافذحس٘خ أٚلاً.  ُ افذحس٘خ ٘ ٟ ع١ظ ْ عؼش حٌّخدس حٌظ  .صحٌّؾظشحع١ىٛ
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٠شطزو حسطزخهًخ ٚػ١مخً ٘زٖ حٌطش٠مش ِف١ذس خلاي فظشس حسطفخع حلأعؼخس لأْ حٌّٛحد عظقذس ِٓ آخش ؽلٕش رغؼش 
ُ كغخد طىٍفش حٌّٕظؾ ػٍٝ أعخط ٠مخسد طىٍفش حلاعظزذحي. ٖ حٌطش٠مش ٠ظ  رّغظ٠ٛخص حٌغؼش حٌلخ١ٌش. رّٛؿذ ٘ز

  
Example:- The followings transactions took place in respect of material in during 

the month of January, 2018. Under Stores Ledger using LIFO method. 
Jan. 1 was balance the materials 500 units @ $ 6 . 

Jan.4 Purchased  550 units @ $.5 per unit and paid the transportation expense $ 
275 . 

Jan.5 Purchased 600 units @ $.6 per unit and paid the taxes $ 300 . 
Jan.6 Issued 500 units. 

Jan.10 Purchased700 units @ $7 per unit and paid the commission ,transportation 
expense $350 . 

Jan. 15 Issued 800 units. 
Jan.20 Purchased 300 units @ $ 5 per unit. 

Jan. 22 return 250 units the purchased materials in Jan. 4 .  
Jan.23 Issued 700 units. 
Jan.25The inventory stocks last period 300 units and found the cause of deference  

is 100 unit damage alone . 
Required ; 1- prepare item card    

                 2- journalize the transactions . 

Solution example LIFO:-     

1-Bin card 

date Received (purchasing ) Issued Balance 

Quantity price amount Quantity Price amount Quantity Price amount 

Jan. 1       500 6 3000 

Jan. 4 550 5.5 3025    1050 500*6 

550*5.5 

6025 

Jan. 5 600 6.5 3900    1650 500*6 

550*5.5 

600*6.5 

9925 

Jan. 6    500 6.5 3250 1150 500*6 

550*5.5 

100*6.5 

6675 

Jan.10 700 7.5 5250    1850 500*6 

550*5.5 

100*6.5 

700*7.5 

11925 

Jan.15    800 100*6.5 

700*7.5 

5900 1050 500*6 

550*5.5 

6025 

Jan.20 300 5 1500    1350 500*6 

550*5.5 

300*5 

7525 

Jan.22 (250) 5.5 (1375)    1100 500*6 

300*5.5 

6150 
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300*5 

Jan.23    700 300*5 

300*5.5 

100*6 

3750 400 400*6 

 

2400 

Jan.25 Unit damage   100 6 600 300  1800 

total 1900  12300 2100  13500 300  1800 

 
2- journalize the transactions 

 
Journal Entry for an Inventory Purchase(Purchase Entry) 

-Jan.4 
 3025 Raw materials control 

                                  3025           Accounts payable  
 

Journal Entry for an Inventory Purchase(Purchase Entry) 

-Jan.5   
 3900 Raw materials control 

                          3900                           Accounts payable 
 

Move Raw Materials to Work in Process(Issue Entry )                                     
-Jan.6                                                                                                        

Work-in-process control             3250                                                                    
-           Raw materials control                    3250 

Journal Entry for an Inventory Purchase(Purchase Entry) 
-Jan.10   

 5250 Raw materials control 
                          5250                          Accounts payable 

 

Move Raw Materials to Work in Process(Issue Entry )                                     
-Jan.51                                                                                                      

Work-in-process control             1022                                                                    
-           Raw materials control                    1022 

 
 

Journal Entry for an Inventory Purchase(Purchase Entry) 
-Jan.20   

 1500 Raw materials control 
                         Accounts payable                               1500 
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Move Raw Materials to Work in Process(Issue Entry)                                       
-Jan.00                                                                                                    

Accounts payable                    5231                                                                         
-          Raw materials control                      5231 

Move Raw Materials to Work in Process(Issue Entry )                                     
-Jan.02                                                                                                     

Work-in-process control             2312                                                                    
-           Raw materials control                    2312      

Journal entry to write off damaged inventory 
-Jan.25 

     600  Loss on inventory write-off 
    Raw materials control                           600   

 

Stock Equation 
first Balance + (received – return to supplier)=(Issued- return to store) + end balance 

13500 + 1800 =3000 + 12300 
15300  =15300 

 

Weight Average Method ٌطريمح انًعذل انًىزو 

Under this method, materials issued are valued ُطم١ at average price. This is 

calculated by dividing the total of the price of the materials on the stock from 

which the material to be priced could be drawn by the number of prices used in 

that total. 

A new simple average price is to be determined when a fresh receipt is made. The 

rate is also revised when an earlier consignment is exhausted. 

ُ كغخد رٌه رمغّش اؿّخٌٟ عؼش حٌّٛحد   ُ حٌّٛحد حٌقخدسس رّظٛعو حٌغؼش. ٠ظ ُ طم١١ رّٛؿذ ٘زٖ حٌطش٠مش ، ٠ظ
ٝ ػذد حلأع ٗ حعظخلاؿ حٌّٛحد حٌّشحد طغؼ١ش٘خ ػٍ ْ حٌزٞ ٠ّىٓ ِٓ خلاٌ ؼخس حٌّغظخذِش فٟ ٘زح فٟ حٌّخضٚ

 حلإؿّخٌٟ.
ُ ِشحؿؼش حٌغؼش أ٠نًخ ػٕذ ٔفخد ؽلٕش عخرمش. ُ طلذ٠ذ ِظٛعو عؼش رغ١و ؿذ٠ذ ػٕذ افذحس ا٠قخي ؿذ٠ذ. ٠ظ  ٠ظ

 
:. The following  transactions took place in respect of material in during Example

the month of February , 2009. You are required to write up the Stores Ledger 
underweight average: 

Feb.1/ was balance the materials 500 units @ $ 5. 
Feb .4/ 100 units purchased @ $ 4.00 per unit . 

Feb. 5/ issued 500 units 
Feb .8 / 200 units purchased @  $ 5.00per unit 

Feb .10 / 300 units purchased @ $ 6.00 per unit 
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Feb .12/ issued 250 units. 
Feb. 28/ The inventory last period 300 units and found the cause of deference  is 50 

unit  damage alone note that the percentage of damage are allowed10%of 
inventory  .  

Required ; 1- prepare item card    
                  2- journalize the transactions 

Solution example (WA):-  

1-Bin card 

date Received (purchasing ) Issued balance 

Quantity price amount Quantity price amount Quantity price amount 

Feb.1       500 5 2500 

Feb.4 100 4 400    600 4.83 2900 

Feb.5    500 4.83 2417 100 4.83 483 

Feb.8 200 5 1000    300 4.94 1483 

Feb.10 300 6 1800    600 5.47 3283 

Feb.12    250 5.47 1367.5 350 5.47 1915.5 

Feb.28 Unit damage  50 5.47 273.5 300  1642 

Total 600  3200 800  4058 300  1642 

 

2- journalize the transactions 

 
Journal Entry for an Inventory Purchase(Purchase Entry) 

-Jan.4 
 400 Raw materials control 

                                  400            Accounts payable  
 

Move Raw Materials to Work in Process(Issue Entry )                                     
-Jan.5                                                                                                               

Work-in-process control             2417                                                                    
-           Raw materials control                    3250 

Journal Entry for an Inventory Purchase(Purchase Entry) 
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-Jan.8   
 1000 Raw materials control 

                          1000                          Accounts payable 
 

Journal Entry for an Inventory Purchase(Purchase Entry) 
-Jan.10   

 1800 Raw materials control 
                          1800                          Accounts payable 

 
Move Raw Materials to Work in Process(Issue Entry )                                     

-Jan.52                                                                                                     
Work-in-process control             1367.5                                                                    

-           Raw materials control                    1367.5 

Journal entry to write off damaged inventory 

-Jan.28 
     273.5  Loss on inventory write-off 

          Raw materials control                            273.5 

 
Stock Equation 
first Balance + (received – return to supplier)=(Issued- return to store) + end balance 

4058 + 1642 =2500 + 3200 

5700  =5700 

 

EOQ (Economic Order Quantity) كًيح انطهة الالرصاديح   

Concept And Meaning Of Economic Order Quantity (EOQ)               كًيح ً يفهىو ويعُ

 انطهة الالرصاديح

Economic order quantity is also known as reorder quantity. Economic order quantity 

(EOQ) is a level of inventory where the total cost of holding inventory is at minimum. 

Economic order quantity is the level of quantity at which the cost of ordering will be 

equal with the storage cost of materials. In other words, the quantity of materials which 

is economical to be ordered at one time is known as economic order quantity. The total 

costs of materials consists of the ordering cost and carrying cost. While determining the 

economic order quantity, the ordering cost and carrying cost should be considered. 

 Ordering Costكهف انطهثيح 

The ordering cost is the repurchase cost and is repeated in nature. Purchasing of large 

quantities of materials helps reduce the ordering cost. The following costs are included 

in the ordering cost.      

ٝ طخف١ل وٍف حٌطٍز١ش. ً هز١ؼٟ، ٚحٌؾشحء رى١ّخص وز١شس ٠غخػذ ػٍ ٟ طظىشس رؾى ٟ وٍف حػخدس حٌطٍز١ش ٚ٘ ٘  

* Cost of staff appointed in the purchasing, inspection and payment departments. 
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* Cost of stationary purchases, telephone charge, email charge, fax charge etc. 

Ordering costs also includes the cost of floating tenders, the cost of making comparison 

among quotations, cost of paper work, cost of transpiration etc. 

 Carrying Costكهف انرحًيم 

Carrying cost is concerned with the storage of materials. It suggests purchasing in small 

quantities. If small quantities of material purchased, the storing cost will below. The 

following costs are included in carrying costs. 

* Cost of storage ( warehousing, salaries, rent etc.) 

* Cost of spoilage in stores and handling 

* Insurance cost of materials 

* Interest on capital blocked on materials or opportunity cost 

* Cost of maintaining the materials to avoid deterioration 

* Cost of obsolescence due to a change in the process or product. 

 

 

Calculation Of Economic Order Quantity(EOQ)  

  احرساب كًيح انطهة الالرصاديح

The economic order quantity can be determined in the following ways. 

 :ٟ -و١ّش حٌطٍذ حلالظقخد٠ش ٠ّىٓ طلذ٠ذ٘خ ِٓ خلاي ح٢ط  

                      1. Formula Method  

                      2. Graphical Method 

                     3. Trial And Error Method 

 Formula Method .1صيغح انًعادنح                           

With the help of following formula, the economic order quantity can be calculated. 

 

 

 
 

Example : ubnt  firm for  internet  receiver  maker . Annual demand for the smi is 

16,000. The annual holding cost per unit is $2.50 and the cost to place an order is $50. 

What is the economic order quantity? 
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 Concept And Meaning Of Minimum Stock Level  ٍنًسرىي انخسي ً ً انحذ الادَ   يفهىو ويعُ

Minimum level or safety stock level is the level of inventory, below which the stock of 

materials should not be fall. If the stock goes below minimum level, there is a 

possibility that the production may be interrupted due to shortage of materials. In other 

words, the minimum level represents the minimum quantity of the stock that should be 

held at all times. 

The minimum level is determined by using the following formula 

Minimum Level = Re-order level -(Normal consumption x Normal Re-order Point) 

 

Calculation OF Minimum Level Or Safety Stock  

ٓ حلاِخْ ٜ خض٠  حكظغخد حٌلذ حلادٔٝ ٌّغظٛ

1. Re-order Level = Maximum consumption x Maximum Re-order Point.- 

2. Normal consumption = (Maximum Consumption + Minimum Consumption)/2 

3. normal Re-order Period = (Maximum Re-order Period + Minimum Re-order 

Period)/2 

Example : 

Re-order Period = 8 to 12 days 

Daily consumption = 400 to 600 units 

Minimum Level = ? 

Re-order Level   = ? 

Solution, 

Minimum Level = Re-order Level - (Normal Consumption x Normal Re-order Point) 

= 7200 - (500 x 10) 

= 2200 units. 

Working Notes: 

1. Re-order Level = Maximum consumption x Maximum Re-order Point 

= 600 x 12 = 7200 units 

 

2. Normal consumption = (Maximum Consumption + Minimum Consumption)/2  

= (600+400)/2 = 1000/2= 500 units 

 

3. Normal Re-order Period = (Maximum Re-order Period + Minimum Re-order 

Period)/2 

= (12+8)/2 = 10 days 

Maximum Level And Its Calculation  

Concept And Meaning Of Maximum Level 
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Maximum level is that level of stock, which is not normally allowed to be exceeded. 

Beyond the maximum stock level, a blockage of capital should be exercised to check 

unnecessary stock. The factory should not keep materials more than the maximum stock 

level. It increases the carrying cost of holding unnecessary inventory level. It is the 

opportunity cost of holding inventory. 

The maximum stock level can be calculated by using the following formula: 

Maximum Level = Re-order Level + Re-order quantity - (Minimum consumption x 

Minimum Delivery Time) 

Stock Investment Stock market investing Human resource managements 

Example : 

Re-order quantity = 1000 units 

Re-order Level = 1500 units 

Re-ordering period = 4 to 6 days 

Daily consumption = 150 to 250 units 

Maximum Level   = ? 

Solution 

Maximum Level = Re-order level + Re-order quantity - (Minimum consumption x 
Minimum Re-ordering period) 

                                                (4   *150   )=1500 +1000 -  
                             = 1900 units. 

xercisesEQuestions and  

Questions 

1- What is meant by material control? 

2- What are the functions of material control? 

3- What are the purchase procedures? mention it. 

4- What is meant by pricing for exported materials and what is the need for it? 

5- What do we mean by stock levels and what are their types? 
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Exercises 

Exercise (1)  : The followings transactions took place in respect of material in during 

the month of June, 2011. You are required to write up the Stores Ledger 

under(weight average – FIFO – LIFO ) for al-as war company: 

June 5/ was balance the materials 200 units @ $ 4 . 

June 8/ 500 units purchased amount  $ 2500 and paid the transportation expense $ 

500.    

June 9/ issued 250 units . 

June 11/ 200 units purchased @  $ 4 per unit and paid the commission  $ 200.    

June 12 / 300 units purchased @ $ 6 per unit and paid the commission  $ 1 per unit.    

June  15 / 550 units issued 

June  19 / 50 unit return to stores from quantity issued in Jan. 15 .  

June 30 / The inventory last period 500 units and found the cause of deference  is 50 

unit  damage alone note that the percentage of damage are allowed10%of inventory. 

Exercise(2) : The following data concerning industrial FINE company related to the 

movement of materials inventory for the month of May 2014: 

Re-order Period = 22 to 30 days 

Daily consumption = 800 to 1200 units 

Re-order quantity = 20000 units 

Re-order Level = 36000 units 

Annual demand  = 20000 units 

The annual holding cost per unit is  = $ 3 

the cost to place an order is $ 50 

Require :calculate the following 

 1- Economic order quantity 

.2- Minimum Level 

.3- Maximum Level    
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chapter three 

Labor Cost Control 

 انرلاتح عهً كهفح انعًم
ً رلاتح كهفح الاجىر     Concept And Meaning Of Labor Cost Controlيفهىو ويعُ

Labor cost covers one of the major portion of the total cost of a product or job.        
ٚ أِش حٌؼًّ ٟ كقش سث١غش ِٓ حٌىٍفش حلاؿّخ١ٌش  ٌٍّٕظؾ ح  It may increase وٍفش حلاؿٛس طغط

unnecessarily due to inefficiency of workers, wastage of materials by workers, idle 
time, unusual overtime work and high labor turnover. 

ْ غ١ش  ً حٌؼخ١ٍِٓ، م١خع سرّخ حٌض٠خدس طىٛ  ـوفخءس حٌؼخ١ٍِٓ. حٌفخلذ ِٓ حٌّٛحد ِٓ لز مشٚس٠ش رغزذ ٔم
ٝ حلادحسس حرظىخس طم١ٕخص فؼخٌش  ٟ غ١ش حلاػظ١خدٞ ٚحسطفخع دٚسحْ حٌؼًّ. ٚرخٌظخٌٟ ػٍ حٌٛلض، حٌٛلض حلامخف

ً ِٓ خلاي حلاعظغلاي حلافنً ً رىٍفش أل ٝ وٍفش حلاؿٛس ٌنّخْ ِخشؿخص ػخ١ٌش ٚؿٛدس أفن ٌمٛس  ٌٍغ١طشس ػٍ
 حٌؼًّ.

 Hence, the management should devise effective techniques for controlling labor 
cost to ensure maximum outputs of better quality at low cost through proper 

utilization of the labor force.                                                                                       
                

Basically, management is concerned with controlling labor cost. Labor cost control 
involves such systems, procedures, techniques and tools used by the management 

in order to keep the labor cost of the product or job as minimum as possible. Labor 
cost control consists of a number of such regular activities which are carried  on by 
various departments of the organization in a coordinated manner to ensure the 

availability of the best employees and their optimum utilization. 
ٓ أٔظّش، حؿشحءحص، طم١ٕخص ٚأدٚحص  ٖ وٍفش حٌؼًّ، سلخرش وٍفش حلاؿٛس طظنّ رخلأعخط حلادحسس طؾؼش رٍمٍك حطـخ

ٝ ِّىٓ. ٚسلخرش حلاؿٛس  ً ولذ أدٔ ٚ ٢ِش حٌؼّ ً ٌٍّٕظؾ أ ً حٌلفخظ ػٍٝ وٍفش حٌؼّ َ ِٓ حلادحسس ِٓ أؿ طغظخذ
ٟ طظٛلا٘خ ِخ ٓ حٌؼذ٠ذ ِٓ حلأٔؾطش حٌّٕظظّش  حٌظ ظٍف حلالغخَ فٟ حٌّٕظّش رطش٠مش ِٕغـّش ٌنّخْ طٛحفش طظنّ

ً وٍفش.   َ ٠ظزغ ِٓ حلادحسس ٌظلم١ك حلقٝ ؿٛدس ٌٍّخشؿخص ٚرؤل ً حعظخذحَ. ٘زح حٌٕظخ ٓ ٚأفن ً حٌؼخ١ٍِ أفن
ٓ  حٌؼ١ٍّخص ٌظط٠ٛش ِخظٍف حٔؾطش حلاؽىخي ٚحٌذسحعخص ٚحٌغـلاص ٚحرذحء حٌشأٞ ِٓ  سلخرش وٍفش حلاؿٛس طظنّ

ٓ ػ١ٍّخص  حٌؼخ١ٍِٓ، حكظغخد ٟ حٌٛلض حٌّٕخعذ، وزٌه طظنّ حٌّزٍغ حٌقل١ق ِٓ حلاؿٛس ٚػ١ٍّش طغذ٠ٙخ ف
ً ٚحلشحس وٍفش حلاؿٛس ِٓ حلادحسس فٟ حٌظخط١و ٚحطخخر حٌمشحس.   طل١ٍ

 It is the system followed by the management to maximize quality output at a 
minimum cost. Labor cost control includes the process of developing various 

forms, studying and recording the activities and performance of workers, 
calculating the correct amount of wages and making payment in time. It also 
include the process of analyzing and reporting labor cost to the management for 

planning and decision making. 
 

 Wage Payment  دفع وذسذيذ الاجىر 
Wages are one of the major portion in the total cost of production. There is always 

a chance of fraud in wage payment.                              ٕ٘خن دحثّخً فشفش ٌٍغؼ فٟ دفغ
 حلاؿٛس

 Therefore, an effective administrative and accounting control system must be 
implemented by the management to minimize fraud and to keep the labor cost 

minimum. As already stated, a number of departments are set up for the effective 
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utilization of labor force and its proper accounting and controlling. These 
departments are required to work in a coordinated manner and to support the 

management in controlling labor cost by recording and reporting their activities on 
regular basis. The management should evaluate and revise its controlling system to 

find out leakages and to stop such leakages in time. Fraud in wage payment may 
result in various ways like inclusion of dummy worker in pay-roll, manipulating 

hours, recording extra overtime, using a wrong wage rate and registering absent 
workers. 

Wage Payment System, Its Importance And Essential Characteristics 
ً َظاو دفع الاجىر     Concept And Meaning Of Wage Payment Systemيفهىو ويعُ

The system of wage payment is the method adopted by manufacturing concerns to 
remunerate workers.  It is the way of giving financial compensation to the workers 

for the time and effort invested by them in converting materials into finished 
products. It indicates the basis of making payment to the workers, which may be 

either on time basis or output basis. The selection of the system depends on the 
type and nature of the concern and its products. The wage payment systems can be 
divided into two main systems as follows. ٓ هش٠ك ٔظخَ دفغ حلأؿٛس   ٛ حلأعٍٛد حٌّؼظّذ ػ ٘

ٗ فٍش ٌ ْ ٟ حٌطش٠مش لإػطخء طؼ٠ٛنخص ِخ١ٌش ٌٍؼّخي ٌٍٛلض ؿرؤ حٌظق١ٕغ ٠ىٛ ٛس حٌؼّخي حٌّؼظّذس. ٘زٖ ٘
 ٟ ٝ أعخط دفغ ِزٍغ ٌٍؼّخي، ٚحٌظ ً ػٍ ٝ ِٕظـخص طخِش حٌقٕغ. فٙزح د١ٌ ً حٌّٛحد اٌ ٚحٌـٙذ حٌّغظؼّش رٙخ فٟ طل٠ٛ

ٝ ٔٛع ٚهز١ؼش حٌمٍك ٚ ػٍٝ أعخط حلأظخؽ. حخظ١خس ٔظخَ ٠ؼظّذ ػٍ ٝ أعخط حٌٛلض أ ْ اِخ ػٍ ِٕٚظـخطٙخ.  لذ طىٛ
ٓ سث١غ١ٓأٔظّش حٌذفغ ح ٝ ٔظخ١ِ ٛ حٌظخٌٟ. لأؿٛس ٠ّىٓ طمغ١ّٙخ اٌ ػٍٝ حٌٕل  

   1. Piece rate system                                                    انمطعح ً َظاو يعذل الاجر عه                                           
  2. Time rate                                                                  َظاو يعذل الاجر عهً انىلد                                                   

 
Importance Of Wage Payment System                         اهًيح َظاو دفع الاجىر              

The amount of wages paid to the workers is one of the major elements of cost. It 
has a great bearing on the cost of production and profitability of the concern. 

Hence, every concern is required to adopt a fair system of wage payment. 
ٝ طىٍفش  ِزٍغ  ٟ ٚحكذس ِٓ حٌؼٕخفش حٌشث١غ١ش ِٓ ك١غ حٌظىٍفش. ٌذ٠ٙخ طؤػ١ش وز١ش ػٍ حلأؿٛس حٌّذفٛػش ٌٍؼّخي ٘

ٝ ح حلإٔظخؽ ٚحٌشرل١ش َ ػخدي ٌمٍك. ٚرخٌظخٌٟ، ٚطزؼغ ػٍ  ٌذفغ حلأؿٛس.طظطٍذ حػظّخد ٔظخ

The importance of wage payment system can be summarized as follows: 
* Wage payment system facilitates the preparation of wage plan for future. 

 ً ٟ ٔظخَ حٌذفغ حلأؿٛس ٠غٙ  .ٌّغظمزًاػذحد خطش ٌلأؿٛس ف
* Wage payment system helps to determine the cost of production and the 

profitability of the organization. 
* Wage payment system determines the amount of earning of the workers and their 

living standards. َ حٌذفغ ٌلأؿٛس ٠لذد ِمذحس وغذ حٌؼّخي ِٚغظٜٛ ِؼ١ؾظُٙ.                ٔظخ  
* Wage payment system affects the interest and attitude of the workers. 

ذس ِٚٛلف حٌؼّخي.* ٔظخَ دفغ حلأؿٛس ٠ئػش ػٍٝ حٌفخث                   
* Wage payment system determines the level of satisfaction of the workers and 

affects the rate of labor turnover. 
* Wage payment system helps in recruiting skilled, experienced and trained 

workers. 
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ٞ حٌخزشس ٚحٌّذسر١ٓ.ٔظخَ حٌذفغ حلأؿٛس ٠غخػذ فٟ طـ١ٕذ حٌؼّخي ح ٌّٙشس، ِٓ رٚ  
* Wage payment system helps to increase the productivity and goodwill of the 

organization. * ٔظخَ دفغ حلأؿٛس ٠غخػذ ػٍٝ ص٠خدس حلإٔظخؿ١ش ٚحٌٕٛح٠خ حٌلغٕش ٌٍّٕظّش.   
Essential Characteristics Of A Good Wage Payment System انخصائص الاساسيح

 نُظاو دفع الاجىر انجيذ
A system of wage payment is satisfies employer and employee by fulfilling 

following criteria. ٟ فخكذ حٌؼًّ ٚحٌّٛظف ِٓ خلاي طلم١ك   ْ ٠شم ٔظخَ دفغ حلأؿٛس ٚحكذ ٘ٛ أ
                                                                                                              حٌّؼخ١٠ش حٌظخ١ٌش.

* Wage payment system should be fair and justifiable to the workers and 
organization. ْ ٔظخَ دفغ أؿٛس ػخدي ِٚزشس ٌٍؼّخي ٚحٌّٕظّش *  .٠ـذ أْ ٠ىٛ  

* Wage payment system should help in maximizing workers' satisfaction and 
minimizing labor turnover. ٝ لذس ِٓ سمخ   ٟ طلم١ك ألق ْ ٠غخػذ ف ٓ ؽؤٔٗ أ َ دفغ حلأؿٛس ِ * ٔظخ

ً ِؼذي دٚسحْ حٌؼًّ.                                                                                           حٌؼّخي ٚطم١ٍ
* Wage payment system should assure minimum guaranteed wages to all workers. 

ٝ ٌلأؿٛس ِنّٛٔش ٌـ١ّغ حٌؼّخي.      * ٔظخَ دفغ حلأؿٛس ٠ـذ مّخْ حٌلذ حلأدٔ
* Wage payment system should assure equal pay for equal work. 
ٞ ٌٍؼًّ حٌّظغخٚٞ.  * ٔظخَ دفغ حلأؿٛس ٠ـذ مّخْ حلأؿش حٌّظغخٚ

* Wage payment system should provide more wages to efficient and skilled 
workers. 

* Wage payment system should follow government policy and trade union's norms. 
 .* ٔظخَ دفغ حلأؿٛس ٠ـذ أْ ٠ظزغ ع١خعش حٌلىِٛش ِٚؼخ١٠ش حٌٕمخرخص

* Wage payment system should be simple and understandable to all the workers. 
* Wage payment system should help in improving performance and productivity of 

the workers. ٓ أدحء ٚأظخؿ١ش حٌؼّخي.                   ٟ طلغ١ ْ ٠غخػذ ف ٓ ؽؤٔٗ أ َ دفغ حلأؿٛس ِ * ٔظخ  
* Wage payment system should be flexible enough to suit the needs of the 

organization. * ٠ـذ أْ ٠ىْٛ ٔظخَ دفغ حلأؿٛس ِشٔش رّخ ف١ٗ حٌىفخ٠ش ٌظظٕخعذ ِغ حكظ١خؿخص حٌّئعغش.   
Piece Rate System Of Wage Payment, Its Advantages And Disadvantages        

  َظاو يعذل انمطعح في دفع الاجىر، انًسايا وانعيىب
 Concept And Meaning Of Piece Rate System Of Wage Payment. The piece rate 
system is that system of wage payment in which the workers are paid on the basis 

of the units of output produced. Piece rate system does not consider the time spent 
by the worker . Piece rate system is the method of remunerating ِىخفؤس the workers 

according to the number of unit produced or job completed. It is also known as 
payment by result or output. Piece rate system pays wages at a fixed piece rate for 

each unit of output produced. The total wages earned by a worker is calculated by 
using the following formula: 

Total Wages Earned= Output x Piece Rate 
 اجًاني الاجىر انًسرحمح= انًخرجاخ* يعذل انمطعح

Advantages Of Piece Rate System  فىائذ أو يسايا َظاو يعذل انمطعح                                  
The following are some important advantages of piece rate system of wage 

payment. 
* Piece rate system pays wages according to the output produced by the worker .It 

encourages efficient workers. 
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* Piece rate system helps to reduce idle time. 
ٝ طخف١ل حٌٛلض حٌنخثغٔظ خَ ِؼذي حٌمطؼش ٠غخػذ ػٍ  

* Piece rate system gives incentives to the workers to adopt a better method of 
production for increasing their production and earning. 

* Piece rate system helps the management to determine the exact labor cost per 
unit . ً ٚكذس.ٔظخَ ِؼذي ح  ٌمطؼش ٠غخػذ حلإدحسس ٌظلذ٠ذ طىٍفش حٌؼًّ حٌذل١ك ٌى  

 
* Piece rate system reduces per unit cost of production due to increased volume of 

reduction. ؼش لطؼش ٠مًٍ فٟ طىٍفش حٌٛكذس ِٓ حلإٔظخؽ رغزذ ص٠خدس كـُ حٌظخف١ل.* ٔظخَ ع   
* Piece rate system requires less supervision cost.     اؽشحفوٍفش * ٔظخَ عؼش لطؼش ٠ظطٍذ 

.ألً  

Disadvantages Of Piece Rate System          انعيىب في َظاو انمطعح             
The following are the notable disadvantages of piece rate system 

 الآذي انمصىر أو انعيىب في َظاو يعذل انمطعح

* Piece rate system does not help in producing quality output as the workers are 
concentrated more on quantity instead of quality. 

ٟ حٔظخؽ  ٝ حٌى١ش رذلاً ِٓ ٔظخَ ِؼذي حٌمطؼش لا ٠غخػذ ف ِخشؿخص رـٛدس ػخ١ٌش ِٓ حٌؼّخي ٠ٚشوضْٚ ػٍ
 حٌٕٛػ١ش.

* Piece rate system does not help for a uniform flow of production and makes 

difficult to regulate the production schedule. 
ُ طذفك حلأظخؽ ٚؿؼٍٗ ِٓ حٌقؼذ ِٕظُ ٟ طٕظ١ فٟ ؿذحٚي حٔظخؿ١ش. ٔظخَ ِؼذي حٌمطؼش لا ٠غخػذ ف  

* It is very difficult to fix an acceptable and reasonable piece rate for each item of 
output or job.ًّحٌقؼذ ؿذحً ح٠ـخد ٚؿٗ ِمخسٔش ِٚمز١ٌٛش ٌّؼذي حٌمطؼش ٌىً رٕذ ِٓ حٌّخشؿخص حٚ حٌؼ ٓ ِ 

* Piece rate system adversely affect the workers' health as well. 
ٝ فلش حٌؼّخي أ٠نخً.  دخٛي ٔظخَ ِؼذي حٌمطؼش ٠ئػش ػٍ

* It requires extra supervision cost for quality output and effective use of materials, 
tools and equipment. حٌّٛحد، حلادٚحص َ ٠ظطٍذ وٍف حؽشحف حمخف١ش ٌٕٛػ١ش حٌخشؿخص ٚوفخءس حعظخذح

 ٚحٌّؼذحص.
Time Rate System Of Wage Payment, Its Advantages And Disadvantages َظاو الاجر

  تانىلد نذفع الاجىر، انًسايا وانمصىر
 Concept And Meaning Of Time Rate System Of Wage Payment 
The time rate system is that system of wage payment in which the workers are paid 

on the basis of time spent by them in the factory. Under this system, the workers 
and employees are paid wages on the basis of the time they have worked rather 

than the volume of output they have produced. Hence, according to this system, 
wages are paid on hourly, weekly or monthly basis. Under time rate system, the 

wages earned by a worker is determined by using the following formula. 
ٞ ٠من١ ٛلضٔظخَ ِؼذي حٌ ٟ طذفغ ٌٍؼّخي ػٍٝ أعخط حٌٛلض حٌز ْ ٔظخَ حٌذفغ حلأؿٛس حٌظ ٛ أ ٘ ٟ ٟ حٌّقٕغ. ف ٗ ف

ً ٘زح حٌٕظخَ،  ُ حلأظخؽ ظ ٓ حلأؿٛس ػٍٝ أعخط حٌٛلض حٌزٞ ػٍّض رذلا ِٓ كـ حٌزٞ وخْ طذفغ ٌٍؼّخي ٚحٌّٛظف١
ً رٗ. ٚرخٌظخٌٟ، ٚفمخ ٌٙزح حٌٕظخَ،  ٟ أٚ ؽٙشٞ. ٚٚفمخ ٌٍٕظخَ  حعخططذفغ حلأؿٛس ػٍٝ لذ ػّ حٌغخػش، أعزٛػ

ً ػ١ٍٙخ حٌؼخًِ ٠ظلذد رخعظخذحَ حٌق١غش حٌظخ١ٌش. ٟ ٠لق  حٌّؼذي حٌضِٕٟ، ٚحلأؿٛس حٌظ
Wages Earned = Time spent(Attended) x Wage rate per 

hour/day/week/month 
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ً عخػش/٠َٛ/ حعزٛع/ ؽٙش  حلاؿٛس حٌّغظلمش = حٌّغظغشق ِٓ حٌٛلض )حٌلنٛس( * ِؼذي حلاؿش ٌى  
 

Advantages Of Time Rate System  فىائذ َظاو يعذل انىلد                                            
The following are some of the important advantages of time rate system of 

wage payment:                             ح٢طٟ رؼل حٌّضح٠خ حٌّّٙش ٌٕظخَ ِؼذي حٌٛلض ٌظغذ٠ذ حلاؿٛس
              

      * Time rate system is simple to understand and easy to calculate. 
* Time rate system is quite useful for organizations that use costly inputs for 

quality outputs. ِذخلاص ػ١ّٕش ٌّخشؿخص ػخ١ٌش َ ٟ طغظخذ َ ِؼذي حٌٛلض ِف١ذ ؿذحً ٌٍّئعغخص حٌظ ٔظخ
 حٌـٛدس

* Time rate system is beneficial for average and below workers.                  
 * Time rate system assures regular income and creates the feeling of economic 

security among the workers. ِٓٔظخَ ِؼذي حٌٛلض ٠نّٓ دخً ِٕظظُ ٠ٚخٍك ؽؼٛس رخلأ
 حلالظقخدٞ ر١ٓ حٌؼخ١ٍِٓ.

* Time rate system does not discriminate the workers and is preferred by trade 
unions.ٔظخَ ِؼذي حٌٛلض لا ١ّ٠ض حٌؼخ١ٍِٓ  ٠ٚفنً ِٓ حٌٕمخرخص حٌؼّخ١ٌش 
Disadvantages Of Time Rate System انمصىر في َظاو يعذل                                     

    انىلد 
The following are some notable disadvantages of time rate system of wage 

payment. 
* Time rate system does not help in increasing output and improving efficiency as 

there is no correlation between effort and reward. 
* Time rate system is not justifiable between efficient and inefficient workers and 

skilled and unskilled workers. 
* Time rate system pays for idle time, which increases the cost of production. 

Time rate system encourages a go-slow tendency among workers during working 
hours and encourages them to work overtime. 

* It is difficult to estimate exact labor cost in advance. 
* It requires strict supervision to get the required quantity of output. 
1. Time Wage System or Time Rate System : Under this system, laborers get 

wage on the basis of time which is utilized in organization. This wages may be 
charged on per hour, per day, per month or per year . There is no relation or 

quantity of output and wages in this method. In India's industry, this method is 
most popular. Its other name is day wages system or time wok system.  

We can calculate wages with following formula  
 

Total Wages = Time taken X Rate 
 

For Example:-  A worker produced 10000 articles  عٍؼش in 7600 hours . His hourly 
wage rate is $ 2.   

Required : Calculate the wage of the worker when he is paid on the basis of time.  
Solution :-  Applying the formula, we get : 

Wage = T.T. *  R 
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= 7600 * 2 = $15200 
 

2. Piece Wage System or Work Rate System : 
   Under this method or system, laborers can get the wages on the basis of their 

work done. No time element will be used for calculation of wages. Rate is also on 
the basis of quantity or unit produced. Under this, method, laborer tries to best for 

producing the products fatly for getting more wages. This method is also called 
payment by result. ٍؼّخي حٌلقٛي ػٍٝ حلأؿٛس ػٍٝ أعخط ذ ٘زٖ حٌطش٠مش أٚ حٌٕظخَ، ٠ّٚىٓ ٌٚرّٛؿ 

َ ػٕقش حٌٛلض ٌلغخد حلأؿٛس. لا ػٍُّٙ حٌم١خَ رٗ. ٚعٛف  ٝ أعخط و١ّش أٚ ٚكذس حٌطغظخذ ٛ أ٠نخ ػٍ ّؼذي ٘
. ٚرّٛؿذ حٌّٕظؾ   fatly ٝ ٘زح حلأعٍٛد أ٠نخ حلأؿش رخلإٔظخؽح  ٓ حلأؿٛس. ٠ٚغّ           ٌلقٛي ػٍٝ ِض٠ذ ِ

                       .  
  

formula:-   Total Wages = Unit Produced X Rate per unit 
For Example :  2500 units were produced by a worker in 1200 h$ Rate of 

production is $ 3 /- per unit. Calculate the wage of the worker if he is paid 
according piece rate method.  
Solution :-  By applying formula, we get : 

Wages = units produced X rate per unit 
 = 2500 X 3 = $ 7500 

Examples of the wages : Acer one staff working 10 hours a day. The time wage 
rate of $ 200 and to you the following additional information: 

The daily working hours 8 hours 
The overtime hours are calculated on the basis of 150% of the ordinary course of 

business 
Required: 1. calculating the worker's wage payable and  extra time. 

                2. recording journal entries 
Solution: 

Accrued wages =(hours' work daily * Wage rate per h.)+ (hours' work additional * 
Wage rate per h.* 150%) 
                           = ( 8       *    200 ) + ( 2 * 200 *  150 % ) 

                           = 1600 + 600    ----- 2200 
2-  Work  in process inventory  1600 

    factory overhead                    600  
                Factory Payroll                 2200 

----------------------    
Example 2:-  One workers Apple work of the company during the last week , four 

days and missed work days ,and delayed two hours in these days and has a daily 
half-hour as the break knowing that the wage rate per day is$ 100 and the number 

of days workweek, five days and 8hours of work each day. 
Required:-  

1.calculating the worker's wage payable 
2.wage analysis 

3.recording journal entries 
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Solution : Accrued wages= ( Number of days of work * per day wage rate )–
absence (Hours delay)غ١خد 

= $ 375  (4* $100 ) – 25 
2- Wage rate per hour = per day wage rate / hours' work daily  

                            = $ 100 / 8 h 
                             = $ 12.5  

= 2 hour * $ 12.5 Wage rate per hour  Absence 
   = $ 25  

= 0. 5 hour * 4 days Break 
         = 2 hour 

        =2 hour * $ 12.5  
       = $ 25   >>>>factory overhead 

3- goods in process inventory  350 
factory overhead                    25 

Factory Payroll    37 
 

 .systemOscar Industrial Co. used to pay wages pace  3 : Example 

The following number of units produced worker David in the first week of 
February 2010 knowing the unit wage rate is $ 10  (38-61-58-40-50): 

required : 1. calculating the worker's wage payable         2. recording journal 
entries 

-Solution : 1 
First day = 38 units * $ 10  >>> $ 380 

Second day = 61 units * $ 10 >>> $ 610 
Third day  = 58 units  * $ 10 >>> $ 580 

Forth day = 40 units  * $ 10 >>> $ 400 
Fifth day = 50 units  * $ 10 >>> $ 500 

Total                                            $ 2470 
2- goods in process inventory  2470 
                Factory Payroll              2470 

 
 

Questions and exercises 
 

Questions 
1- What is meant by labor cost? 

2- What are the methods of calculating wages? 
3- What is wasted time? 

4- What are the rewards and wages in kind?   
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Exercises 

 
a  receive shall  company dustrial Smartin in works Jassim Ahmed  Exercise 1 :

monthly salary of $600and follows the details of his work during the month of 
April for the year 2010: 
3days of absence from work 

During the month ,the work of Ahmed four additional hours for normal work note 
that the company additional hour wagerate is calculate dat a rate of150% of normal 

hour. 
actual  and that the break hour punctuated by 8hours daily month,30 days that Note

working days during the monthis22 days. 
Required: 

1.calculating the worker's wage payable 
2.wageanalysis 

3.recordingjournal entries 
works in Sniper industrial company that piece tracking  Kassem  Riad Exercise 2 :

system in the payment of wages and follows the details of units produced by him 
vinegar month of October, 2013, note that the piece rate wage is $ 5: 

The first week, including 113 pieces of 8 defective pieces 
The second week of 121 pieces, including 11 pieces in process  
The third week of 126 pieces, including a damaged piece 6000 

The fourth week 130 pieces 
: 1. calculating the worker's wage payable             required 

                  2. recording journal entries 
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chapter four 

 

Overhead 

 انُفماخ انعايح

Overhead costs are : the costs that belong to more than one product and it is difficult to 

link or allocate them directly to the units of the final product, or they are the costs that 

are spent in order to perform a specific activity and benefit from more than one product, 

it is spent on the production activity as a whole. 

 ـحوؼش ِٓ ِٕظؾ ِٚٓ حي ٌفؼذ سرطٙخ حٌظىخ١ٌ طؼشف حٌظىخ١ٌف حٌؼخِش ػٍٝ حٔٙخ  ٟ طخ ف حٌظ  

ٟ طىخٌٟ ٌف طٕفك فٟ عزٟ ٌي حدحء ٔؾخه ِؼ١ٓ.قٙخ رقٛسس حٚ طخق١ٌ  ِٕٙخ  ِزخؽشس ػٍٝ ٚكذحص حٌّٕظؾ حٌٕٙخثٟ ٚ٘

ٓ ِٕظؾ أٞ طٕفك ػٍٝ حٌٕؾخه ح ٟ وىًلاحوؼش ِ .ٔظخؿ  

 The important steps involved in Overhead Accounting are:-  

    

1. Collection, Classification of Overheads.  

2. Allocation, Apportionment and Reapportionment of overheads.. 

3. Overheads of Absorption.  

 :ٟ  -حٌخطٛحص حٌٙخِش حٌّظنّٕش فٟ حٌّلخعزش حٌؼخِش ٘

 . ؿّغ ٚطق١ٕف حٌٕفمخص حٌؼخِش.1

 ـٚاػخدس طٛص٠غ حٌٕفمخص حٌؼخِش .. - 2  ـٚطخق١  طخق١

حٌٕفمخص حٌؼخِش ٌلاِظقخؿ -3  . 

 

1.Overheads collection is the process of recording each item of cost in the records 

maintained for the purpose of ascertainment of cost of each cost center or unit.  

ً رٕذ ِٓ رٕٛد حٌظىٍفش فٟ حٌغـلاص حٌّلفٛظش ٌغشك حٌظؤوذ ِ ً و ٛ ػ١ٍّش طغـ١ ً ؿّغ حٌٕفمخص حٌؼخِش ٘ ٓ طىٍفش و

.ِشوض طىٍفش أٚ ٚكذس  

2. Indirect costs are distributed to the entire factory among the departments of the 

organization, whether production or service, by allocating a percentage of the general 

commissioning to cost centers on a basis that allows the distribution of elements in fair 

proportions, as the costs distributed are not related to the work of the department (the 

center) itself. 

ٓ ألغخَ حٌّئعغش عٛحء وخٔض أظخؿ١ش أٚ خذ١ِش ٚرٌه  ُ طٛص٠غ حٌظىخ١ٌف غ١ش حٌّزخؽشس ػٍٝ وخًِ حٌّقٕغ ر١ ٠ظ

 ـٔغزش ِٓ ح ُ طٛص٠غ رظخق١ ٌظى١ٍف حٌؼخَ ٌّشحوض حٌظىٍفش ػٍٝ أعخط ٠غّق رظٛص٠غ حٌؼٕخفش رٕغذ ػخدٌش ك١غ ٠ظ

ُ )حٌّشوض( ٔفغٗ .حٌظىخ١ٌف. لا طظؼٍك رؼًّ حٌمغ  

 

3. The application of cost center theory in charging overhead costs to production units 

requires follow the following steps: 

 Determine cost centers (materials, wages, or both) 
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 Inventory and estimation of the overhead cost elements.  

 Charging costs to cost centers. 

 

ٝ ٚكذحص حلإٔظخؽ حطزخع حٌخطٛحص حٌظخ١ٌش: ً حٌظىخ١ٌف حٌؼخِش ػٍ  ٠ظطٍذ ططز١ك ٔظش٠ش ِشوض حٌظىٍفش فٟ طل١ّ

 ، أٚ و١ٍّٙخ( حلاؿٛسطلذ٠ذ ِشحوض حٌظىٍفش )حٌّٛحد ، • 

  ؿشد ٚطمذ٠ش ػٕخفش حٌظىٍفش حٌؼخِش.• 

 حٌظىخ١ٌف ػٍٝ ِشحوض حٌظىٍفش ً  طل١ّ

  

After counting and determining the indirect costs, they are distributed on two levels: 

1. Primary Distribution  

2. secondary distribution  

:ٓ  رؼذ كغخد حٌظىخ١ٌف غ١ش حٌّزخؽشس ٚطلذ٠ذ٘خ ، ٠ظُ طٛص٠ؼٙخ ػٍٝ ِغظ١٠ٛ

 حٌظٛص٠غ حلأٌٟٚ .1

 حٌظٛص٠غ حٌؼخٔٛٞ   .2

1.Primary Distribution: the distribution of indirect costs to the cost centers. The centers within the 

organization: which are service centers (such as maintenance services, a restaurant), and  production 

centers (manufacturing, assembly) so that the cost of each center (whether service or production) of 

these centers includes its original cost. Added to it what was downloaded. 

 

ٟ: طٛص٠غ  ٟ ِشحوض خذِش حٌظٛص٠غ حلأعخع ً حٌّئعغش: ٚ٘ حٌظىخ١ٌف غ١ش حٌّزخؽشس ػٍٝ ِشحوض حٌظىٍفش. حٌّشحوض دحخ

ً ِشوض )عٛحء خذِش أٚ  ً طىٍفش و ً خذِخص حٌق١خٔش ، ِٚطؼُ( ، ٚ  ِشحوض أظخؽ )طق١ٕغ ، طـ١ّغ( رل١غ طؾّ )ِؼ

ُ طٕض٠ٍٗ  أظخؽ( ٌٙزٖ حٌّشحوض طىٍفظٙخ حلأف١ٍش. ٠نخف ا١ٌٙخ ِخ ط

ٟ:ٚلاخطٛحص حٌظٛص٠غ ح ٌ 

ً : ح1 ٓ لا. .طلذ٠ذ حٌظىخ١ٌف حٌؼخِش ِؼ ٝ حٌؼّخي، ح,ٔذػخس، حٌق١خٔش، حٌظخ١ِ ،   ٠ـخس، حمخءس طذفجش ٚطزش٠ذلاحٌلٛحدع ، ػٍ

ً حٌطٕظ١ف، طؼ٠ٛنخص، سٚحطذ حٌّؾشف١ٓ، رلغ ٚطط٠ٛ,  هؼخَ، حٌطزخرشٚحٌفلـ، حلا ْ ، ش ، حٌٕم ً ٚحٌخض ذحخ

 ١ُ.حٌظؾل

 حعظ:  سٕٚ٘خن ػذ ِشٌؼخعخط ٌظٛص٠غ حٌظىخ١ٌف حلا.طلذ٠ذ ح 2

ٟ ٌظٛص٠غ ح صلاح٢ ل١ّش -أ ٓ ٚحٌٔذػخس لاٚحٌّزخٔ ٌ ظق١ٍٚحٌظخ١ِ  ٔش.ق ٚحٌق١خ

 ف.حٌظٕظ١ٚحٌظذفجش ٚحٌظزش٠ذٌ  ,مخءسلاـخس، ححلا٠غ حٌّغخكش ٌظٛص٠ -د

ٝ حٌؼّخي ، طؼ٠ٌٛ  -ؽ ٓ ػٍ  نخص حٌؼّخي، ِىخفجخطُٙ.حؿٛس حٌؼّخي ٌظٛص٠غ حٌظخ١ِ

 ش.زلغ ٚحٌظط٠ٛ, حٌٓ حٌطخلش ، سٚحطذ حٌّؾشف١ٌ عخػخص حٌؼًّ ٌظٛص٠غ طىخ١ٌفٌ  -د

ً ٌٍذحخًحٌّٛحد ٌظٛص٠ ل١ّش -ٖ ْ ٚحٌظخ١ِ ,غ ٔم ٝ حٌّٛحد حطىخ١ٌف حٌخض    .١ٌٚشٌ لآ ػٍ

 ـٚحٌق١خٔش.ف حٌظؾل١ٌظٛص٠غ طىخ١ٌ صح٢لاػذد  -ٚ  ُ ٚحٌض٠ٛص ٚحٌفل
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2- Secondary distribution: that is, the costs of the service centers are distributed to 

the production centers (for example, the distribution of the costs of the maintenance 

center, all original and charged to the commodity production centers.  

ً حٌّؼخي ، طٛص٠غ طىخ١ٌف ٌظٛص٠غ حٌؼخ ٝ عز١ ٝ ِشحوض حلإٔظخؽ )ػٍ ْ طىخ١ٌف ِشحوض حٌخذِش طٛصع ػٍ ٞ: أٞ أ ٛٔ

ً ػٍٝ ِشحوض أظخؽ حٌغٍغ   ِشوض حٌق١خٔش ، وٍٙخ أف١ٍش ٚطلّ

• total method  حؿّخ١ٌش 

• Direct Signal Method    ِزخؽشس  

• step down method  طٕخص١ٌش    

• Reciprocal method  طزخد١ٌش   

 

-The Direct Method  حٌّزخؽشس حٌطش٠مش   

It assumes that there is no reciprocal relationship between the service departments, 

According to this method, the costs of each service center are allocated separately to 

the production centers only to the extent that they benefit from the services of the 

service centers, provided that the basis of distribution is chosen according to the 

nature of the service performed by the service center. 

٠ ٓ ً ِشوض خذِش ش ، ٚٚفمخً ٌٙزٖ ح١ٌحٌخذِ حلالغخَفظشك ػذَ ٚؿٛد ػلالش ِظزخدٌش ر١  ـطىخ١ٌف و ُ طخق١ طش٠مش ، ٠ظ

 ً ً ِٕفق ٝ رؾى ْ ٠ىْٛ ػٍ ٗ ِٓ خذِخص ِشحوض حٌخذِش ، رؾشه أ ٞ طغظف١ذ ف١ ٝ حٌلذ حٌز ِشحوض حلإٔظخؽ فمو اٌ

ٟ ٠ئد٠ٙخ ِشوض حٌخذِش ُ حخظ١خس حٌظٛص٠غ ٚفمخً ٌطز١ؼش حٌخذِش حٌظ .حلأعخط ٠ظ  

- Step Down Method  حٌطش٠مش   حٌظٕخص١ٌش

According to this method, the costs of each service center are distributed to each of the 
production centers and other service centers, according to the relative importance of the 
downward benefit from the services of each service center separately. Therefore, this method 

requires that the production service centers be arranged in descending order according to their 
relative importance, so that it starts first with distributing the costs of the most important service 

center that provides  services to the largest possible number of service centers and production 
centers and ends with distributing the costs of the service center that leads services to the least 
number of centers i.e. centers Production only, where the costs of the relatively most important 

service center are distributed first, then the next, and it ends with distributing the costs of the last 
service center to the production centers only. 

ٝ وً ِٕظؾ ُ طٛص٠غ طىخ١ٌف وً ِشوض خذِش ػٍ حٌّشحوض ِٚشحوض حٌخذِش حلأخشٜ ،  ٚفمخً ٌٙزٖ حٌطش٠مش ، ٠ظ
ْ ظٕخص١ٌش خ حٌكغذ حلأ١ّ٘ش حٌٕغز١ش ٌٍّضح٠ ٖ حٌطش٠مش أ ٝ كذس. ٌزٌه ، طظطٍذ ٘ز ِٓ خذِخص وً ِشوض خذِش ػٍ

ٟ كغذ أ١ّ٘ظٙخ حٌٕغز١ش ، ٠ىْٛ رل١غ ٠زذأ أٚلاً رظٛص٠غ طىخ١ٌف  ٠ظُ طشط١ذ ِشحوض خذِش حلإٔظخؽ رظشط١ذ طٕخصٌ
ُ ِشوض خذِش ٠مذِٗ ٟ رـظٛ أ٘ ص٠غ طىخ١ٌف حٌخذِخص لأوزش ػذد ِّىٓ ِٓ ِشحوض حٌخذِش ِٚشحوض حلإٔظخؽ ٚطٕظٙ

ً ػذد ِٓ حٌّشحوض ، أٞ ٞ ٠مٛد حٌخذِخص اٌٝ أل  ِشوض حٌخذِش حٌز
ْ طىخ١ٌف ِشوض حٌخذِش حلأوؼش أ١ّ٘ش ٔغز١خً ٟ رظٛص٠غ  ِشحوض حلإٔظخؽ فمو ، ك١غ طىٛ ٟ ٚطٕظٙ طٛصع أٚلا ػُ حٌظخٌ

 .ِشحوض حلإٔظخؽ فمو طىخ١ٌف آخش ِشوض خذِش ػٍٝ

 
 

 
   Reciprocal Method of Allocating Costs - حٌطش٠مش حٌظزخد١ٌش ٌظٛص٠غ حٌظىخ١ٌف
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According to this method, the idea of mutual services between productive service 
centers is taken into account, and in light of this method, the costs of each service 

center are added to the cost of any services that benefited from the other service 
center. Service after adding and subtracting the cost of mutual services on 

production and service centers using the unilateral or regressive method. 
ٓ ِشحوض حٌخذِخص   ٝ فىشس حٌخذِخص حٌّظزخدٌش ر١ ٖ رّٛؿذ ٘زٖ حٌطش٠مش طشحػ ً ٘ز حلإٔظخؿ١ش، ٚفٝ ظ

ٗ خذِخص حعظفخدص ِٓ ِشوض حٌخذِخص حلأخشٜ،  ٝ طىخ١ٌف وً ِشوض خذِخص طىٍفٗ ا٠ حٌطش٠مش ٠نخف اٌ
 ً ٝ طىٍفٗ و ُ طٛص٠غ فخف ُ ٠ظ ٚططشف ٔفظ حٌظىٍفش حٌّظزخدٌش ِٓ طىٍفش حٌّشوض حٌزٞ أفخد ِشحوض حٌخذِش طزخد١ٌخ ػ

َ حٌطش٠مش ِشوض خذِٗ رؼذ امخفش ٚهشف طىٍفش حٌخذِخص حٌّظزخد ٝ ِشحوض حلإٔظخؽ ٚحٌخذِخص رخعظخذح ٌش ػٍ
 .حلأفشحد٠ش آٚ حٌظٕخص١ٌش

Example 1 : Acer company has two production center and two service center , the 
relating to a period are as under  

PRODUCTION                          SERVICE center                                                  
center   

                                           Maintenance    PERSONNEL   MOULDING     
FINISHING 
Direct department costs    $126,000        $24,000           $130,000        $120,000 

Square meters                                                                             15,000          3,000 
Number of employees              20               10                       40                        30 

Machine-hours                                                                         30,000             20,000 
Required: prepare statement the distribution of expenses in the total  method and 

single method 
:method The Total 

Maintenance+ PERSONNEL  
  = ($126,000  + $24,000)  $150,0000 

•Total Machine-hours in production departments: 
30,000 + 20,000 = 50,000 hours 

•service center cost allocated to moulding 
30000 /50000 * 150000 = $90000 
•service center cost allocated to finishing 

= (20,000 ÷50,000)* $150,000 = $60,000 

  
                                           centerSERVICE                                          

center PRODUCTION  
                                           Maintenance      PERSONNEL    MOULDING    

FINISHING 
Direct department costs    $126,000       $24,000        $130,000           $120,000 

60,000              90,000         (24,000)     (126,000)Distribution service center   
000                   000                220000                                                                

180000 
method The single 

Maintenance $126,000   
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•Total Machine-hours   in production departments: 
30,000 + 20,000 = 50,000 

•Maintenance center cost allocated to moulding 
=(30000|50000) *$126000= $75000 

       •Maintenance center cost allocated to finishing 

= = (20,000 ÷50,000) * $126,000 = $50,400 

PERSONNEL     $ 24000 

Total Number of employees ( 40 + 30 )= 70         
PERSONNEL center cost allocated to moulding 

= (40 ÷ 70)* $ 24000= $13714  
PERSONNEL center cost allocated to finishing 

= (30 ÷ 70)* $ 24000= $10286  
                                                   SERVICE center                   PRODUCTION 

center 
                                                Maintenance  PERSONNEL   OULDING   

FINISHING     
Direct center costs                    $126,000         $24,000       $130,000     $120,000 
Distribution Maintenance center  (126,000)                           75,600         50,400 

Distribution PERSONNEL center                          (24,000)          13714           
10286 

                                                                     0                0                219,314       
 180,686 

Example 2: Smart  company has four  production center and three service center , 
the relating to a period are as under  

 service department Production department 

power Human 

recourses 

Maintenance 

building 

A B C D 

Factory overhead  30000 10000 20000 50000 40000 60000 90000 

Kw hours    12000 18000 20000 50000 

Number of employs     30 10 20 40 

Square feet     5000 6000 4000 5000 

Required: prepare statement the distribution of expenses in the total  method 
and single method 

:The Total method 

Power+ Human recourses +Maintenance building= ($30,000  + $10,000+$20,000  
)  

   $60,0000               
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•Total Kw hours in production departments: 
 12000 +18000+20000+50000= 100,000 

service center cost allocated to A center 
= (12000/10000) * $60000 = $ 7200 

=  (service center cost 

allocated to B    

center 

 = (18000/100000) *$60000= $10800 

=  (service center cost 

allocated to C center 

= (20000/100000) * $60000 = $12000 

= (service center cost 

allocated to D center 

= (50000/100000) * $60000 = $ 30000 

 service department Production department 

power Human 

recourses 

Maintenance 

building 

A B C D 

Factory overhead  30000 10000 20000 50000 40000 60000 90000 

Distribution service 

center 

(30000) (10000) (20000) 7200 10800 12000 30000 

Total 0 0 0 57200 50800 72000 120000 

 
The single method 

$30,000   power 

•Total Kw hours in production departments: 
 12000 +18000+20000+50000= 100,000 

Power center cost allocated to A center 
= (12000/100000) * $30000 = $3600 

=   (power center cost allocated to B center 

=( 18000/100000) * 30000 = $5400 
Power center cost allocated to C center 

=(20000/100000) * $30000= $6000 
Power center cost allocated to D center 

= (50000/100000) *$30000=$15000 
$ 10000   Human recourses 
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•Total Number of employs in production departments: 
30 +10 + 20 +40= 100 

center cost allocated to A centerHuman recourses    
=(30/100)*$10000=$3000 

= center cost allocated to B center   Human recourses  

= (10/100) *$10000 =$1000 
center cost allocated to C center   Human recourses  

=  (20÷100) *$10000 =$20000 
center cost allocated to D centerHuman recourses    

= (40/100) *$10000 = $4000 
$20,000   Maintenance building 

•Total Square feet in production centers: 
 5000+6000+4000+5000= 20,000 

center cost allocated to A center Maintenance building  
=(5000/20000) * $20000 =$5000 

= center cost allocated to B center Maintenance building 

= (6000/20000) *$20000 = $6000 

= center cost allocated to C center Maintenance building 

=(4000/20000)*$20000= $4000 
center cost allocated to D center Maintenance building  

= (5000/20000) * $20000 =$5000 
 

 service department Production department 

power Human 

recourses 

Maintenance 

building 

A B C D 

Factory overhead  30000 10000 20000 50000 40000 60000 90000 

Distribution power 

center 

(30000)   3600 5400 6000 15000 

Distribution Human 

recourses center 

 (10000)  3000 1000 2000 4000 

Distribution 

Maintenance building 

center 

  (20000) 5000 6000 4000 5000 

Total 0 0 0 61600 52400 72000 114000 
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Example3 : 

 PRODUCTION                        Centers             SERVICE                                       
Centers                                         management               maintenance            cutting 

          summation ٌظـ١ّغح        …………………………….……..                                
                                                       

 Direct Center costs                   $126,000              $24,000           $100,000     
$160,000 

Number of employees                    30                       90                     150              30 
Direct labor hours                                                                             2,100         

10,000 
Machine-hours                                                                                20,000         

30,000 
Required: prepare statement the distribution of service centers costs  in the Step-

Down method. 
solution: 
270 = ( 90 + 150 + 30 ) ---270 

Step 1: service management  
$(126,000) (90 ÷ 270) = $42,000 maintenance Center                              

$(126,000 ) (150 ÷ 270) = $70,000 cutting  Center                              
$(126,000) (30 ÷ 270)  = $14,000 summation Center                              

Step 2:maintenance >>>> $(66,000)  =(24000 + 42000) 
$(66,000) (20000  ÷ 50000) = $26,400     cutting  Center                              

$(66,000)  (30000 ÷ 50000) = $39,600 summation Center                              

  Service center  Production center 

service  

management 

maintenance 

      

cutting   

         

summation 

          

Direct Center costs             $126,000               $24,000       

     

$100,000 

     

$160,000 

Distribution  of  service     

          management  

(126000) 42000 70000 14000 

Distribution of  

Maintenance center 

 66000)) 26400 39600 

Total  0 0 196400 213600 

 

Example 4:When selected and identify factory overhead elements of the reality of 
records and books of analytical materials and wages and expenses shows that there 
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are common elements that belong to more than one center were as follows: 
Rent factory  5000 

power Dynamics 3000 
Heating and cooling 1000 

depreciation  of buildings 2000 
insurance of employees 5000 

If I know that the available data on the cost centers as follows: 

 Production department                                Service 

department 

A B C D Maintenance 

machine 

Maintenance 

building 

Area m^2 200 400 300 600 200 300 

Power machinery/kW 350 150 200 300   

Number of employees 150 50 150 100 30 20 

 
Required:1-Determine the share of each Center of factory overhead elements. 

                  2-  prepare statement the distribution of expenses in the:  
A- step down method and B- total  method and C- single method. 

Solution:1- 
)200+400+300+600+200+300( 2000/5000 factory Rent 

$5000 ÷2000 = $ /m 2.5 
Share A center of Rent factory                   200 m * $2.5 = $500 
Share B center of Rent factory                    400 m * $2.5 = $1000 

Share C center of Rent factory                    300 m * $2.5 = $750 
Share D center of Rent factory                     600m * $2.5= $1500 

Share main. Mach. center of Rent factory  200m * $2.5 = $500 
Share main. building center of Rent factory 300m * $2.5 = $750 

150+200+300)+350( …./kw 3$3000 ÷ 1000 = $ power Dynamics  
= $10503Share A center of power Dynamics 350kw * $ 

= $4503Share B center of power Dynamics150kw * $ 
= $6003Share C center of power Dynamics200kw* $ 

= $9003Share D center of power Dynamics 300kw* $ 
0.5 $1000 ÷ 2000 = $Heating and cooling 

/m……..2000(200+400+300+600+200+300) 
Share A center of Heating and cooling200 m * $0.5 = $100 
Share B center of Heating and cooling                    400 m * $0.5 = $200 

Share C center of Heating and cooling                    300 m * $0.5 = $150 
Share D center of Heating and cooling                     600m * $0.5= $300 

Share main. Mach. center of Heating and cooling200m * $0.5 = $100 
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Share main. building  center of Heating and cooling300m * $0.5 = $150 
1 /m $2000 ÷ 2000 = $depreciation  of buildings 

..2000(200+400+300+600+200+300) 
Share A center of depreciation  of buildings 200 m * $1 = $200 

Share B center of depreciation  ofbuildings400 m * $1 = $400 
Share C center of depreciation  ofbuildings300 m * $1 = $300 

Share D center of depreciation  of buildings 600m * $1= $600 
Share main. Mach. center of depreciation  of buildings 200m * $1 = $200 

Share main. building  center of depreciation  ofbuildings300m * $1= $300 
)500(150+50+150+100+30+20 each workinsurance of  workers $ 5000÷500 = $ 10 

Share A center of insurance of employees                 150 * $10 = $1500 
Share B center of insurance of employees                  50 m * $10 = $500 

Share C center of insurance of employees                  150 m * $10 = $1500 
Share D center of insurance of employees                    100m * $10= $1000 

Share main. Mach. center of insurance of employees       30m * $10 = $300 
Share main. building  center of insurance of employees   20m * $10= $200 

 

 Production center Service center 

A B C D 
Maintenance 

machine 

Maintenance 

building 

Rent factory 500 

 

1000 

 

750 

 

1500 

 

500 750 

power Dynamics 1050 450 600 900   

Heating and 

cooling 

100 200 150 300 100 150 

depreciation  of 

buildings 

200 400 300 600 200 300 

insurance of 

employees 

1500 500 1500 1000 300 200 

Total  3350 2550 3300 4300 1100 1400 

Astep down  method-2 

$1400 Maintenance building 
1700 (200+400+300+600+200+0) 

Share A center of Service center Maintenance building(200÷1700)  * $1400= $165 
Share B center of Service center Maintenance building(400÷1700)  * $1400= $329 
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Share C center of Service center Maintenance building(300÷1700)  * $1400= $247 
Share D center of Service center Maintenance building (600÷1700)  * $1400= 

$494 
Share main. Mach. center of Service center Main. building (200÷1700) *1400= 

$165 
ine $1100Maintenance mach 

Power machinery / kW1000(350+150+200+300)  
Share A center of Service center Maintenance machine  (350÷1000)  * $1265= 

$443 
Share B center of Service center Maintenance machine(150÷1000)  * $1265= $190 

Share C center of Service center Maintenance machine(200÷1000)  * $1265= $253 
Share D center of Service center Maintenance machine (300÷1000)  * $1265= 

$379 
 

 Production center Service center 

A B C D 
Maintenance 

machine 

Maintenance 

building 

Factory overhead 3350 2550 3300 4300 1100 1400 

Distribution 

Maintenance building 

165 329 247 494 165 (1400) 

Distribution 

Maintenance machine 

443 190 253 379 (1265)  

Total  3958 3069 3800 5173 0 0 

 
 

 
 

 
 

Exercise: Below please factory for the manufacture of cloth data during the year 

ending on 31/12/2011 
        Service center Production center 

maintenance storage Restaurant Spinning 
  حٌغضي

Fabric 
ٔغؾ 

 حٌمّخػ

Area square meters  200 400 200   800 400 
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The number of workers 100  60 40 200 600 

Value machines    60000 40000 

Number of bills of 

exchange of materials 

72   100 76 

Working hours direct    8000 20000 

Hours machines 

turnover 

   4000 6000 

T. Work indirectly 5000 5000 4000 16000 10000 

T. Materials indirectly 8000 7000 8000 7400 19600 

If you know that industrial and other indirect costs were as follows: 

The supervision of $ 30,000 expenses, rent $50,000. 
. maintenance $4000 lighting, insurance on the machines 10% of their value. 

the required : 
Procedure revealed the distribution of factory overhead costs using the Step-Down 

method. 
 

Example:- A company has two services and two producing departments. The two 
service departments serve not only to producing departments but also to each other. 

The departmental estimates for the next year are as follows. 

Producing departments: 

A 

B 

Service departments: 

X 

Y 

 

50,000 

40,000 

 

10,000 

8,800 

 The service departments costs are to be distributed as under: 

Cost of X : 50% to A, 40% to B, and 10% to Y 

Cost of Y : 40% to A, 40% to B, and 20% to X 

 Required: 

Transfer the service departments costs to each other and to producing departments. 
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 Solution: 

Now we solve the given illustration first using the simultaneous equation method as follows: 

Original costs of service departments: 

X = $10,000 

Y = $8,800 

After getting the share from distribution of service departments: 

X = $10,000 + 20% Y 

Y = $8,800 + 10% X 

By putting the value of Y in equation (1) 

X = $10,000 + 20%(Rs.8,800 + 10%X) 

X = $10,000 + 1760 + 0.2X 

X – 0.02X = $10,000 + Rs.1,760 

0.98X = $11,760 

X = 11760 / 0.98 

= $12,000 

By putting the value of X in equation (2) 

Y = $8,800 + 10%($12000) 

Y = $8,800 + $$1,200 

= $10,000 

Distribution Summary 

Department Producing Service 

  

Original costs 

Distribution of service department costs: 

X 

Y 

Total departmental overheads 

A 

 

50,000 

6,000 

4,000 

------- 

60,000 

===== 

B 

 

40,000 

4,800 

4,000 

------ 

48,800 

===== 

X 

 

10,000 

(12,000) 

2,000 

------- 

Nil 

===== 

Y 

 

8,800 

1,200 

(10,000) 

------- 

Nil 

===== 
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Example: Below please factory for the manufacture of cloth data during the year ending on 31/12/2012 
 Production department Service department 

A B Maintenance 

mach. 

Maintenance 

build. 

Factory overhead  20200 30000 10800 21000 

Center service ratio main. Mach.  % 45 % 40  % 15 

Center service ratio main. Build. % 40 % 50 % 10   

 
prepare statement the distribution of expenses in the Reciprocal Method. Required: 
solution : 

 
 

Original costs of service departments: 
X = $10,800Maintenance Mach. 
Y = $21,000Maintenance build 
After getting the share from distribution of service departments: 
X = $10,800 + 10% Y 
Y = $21,000 + 15% X 
By putting the value of Y in equation (1) 
X = $10,800 + 10%(21000 + 15%X) 
X = $10,800 + 2100 + 0.015X 
X – 0.015X = $10,800 + 2100 
0.985X = $12,900 
x = 12900 / 0.985 
= $13,096 
By putting the value of X in equation (2) 
Y = $21,000 + 15%($13096) 
Y = $21,000 + $1,964 
= $22964 

Distribution Summary 

Department Producing Service 

  

Original costs 

Distribution of service 

department costs: 

X 

A 

 

20,800 

 

B 

 

30,000 

 

Maintenance mach. 

10,800 

 

(13,096) 

Maintenance build 

21,000 

 

1964 
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Y 

Total departmental overheads 

5893        

9186 

------- 

35879 

===== 

5239 

11482   

------ 

46721 

===== 

2296 

------- 

Nil 

===== 

(22,964) 

------- 

Nil 

===== 

Example 2:Smart  company has four  production center and three service center , the relating to a 
period are as under  

 service department Production department 

power Human 

recourses 

Maintenance 

building 

A B C D 

Factory overhead  30000 10000 20000 50000 40000 60000 90000 

Kw hours 6000 5000 5000 12000 18000 20000 50000 

Number of employs     30 10 20 40 

Square feet  2000 1000 2000 5000 6000 4000 5000 

.down method  : prepare statement the distribution of expenses in the stepRequired 
Power service center $30,000   
•Total Kw hours in production centers: 
5000+5000+12000+18000+20000+50000 = 110,000 
(5,000 ÷110,000)* $30,000 = $ 1364 share H.R center from power service center cost 
(5,000 ÷110,000)* $30,000 = $ 1364  share M. b. center from power service center cost 
(12,000 ÷110,000)* $30,000 = $ 3272 share A center from power service center cost  
(18,000 ÷110,000)* $30,000 = $4909 share B center from power service center cost 
(20,000 ÷110,000)* $30,000 = $5455 share C center from power service center cost 
(50,000 ÷110,000)* $30,000 = $ 13636 share Dcenterfrompower service center cost 
Maintenance building $20,000+1364>>21364 
•Total Square feet in production centers: 
1000+5000+6000+4000+5000= 21,000 
(1,000 ÷21,000)* $20,000 = $ 1017 share H.RcenterfromM.B service center cost 
 (5,000 ÷21,000)* $20,000 = $ 5086 share A center from M.B service center cost  
(6,000 ÷21,000)* $20,000 = $6104 share B center from M.B service center cost 
(20,000 ÷12,000)* $20,000 = $4069 share C center from M.B service center cost 
(5,000 ÷12,000)* $20,000 = $ 5087 share D center from M.B service center cost  
Human recourses   $ 10000+1364+1017>>12381 
•Total Number of employs in production departments: 
30 +10 + 20 +40= 100 
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 (30 ÷100)* $12,381 = $ 3714 share A center from H.R service center cost  
(10 ÷ 100)* $12,381 = $1218 share B center from H.R service center cost 
(20÷100)* $12,381 = $2436 share C center from H.R service center cost 
(00 ÷ 100)* $12,381 = $ 4952 share D center from H.R service center cost  

 service department Production department 

power Human 

recourses 

Maintenance 

building 

A B C D 

Factory overhead  30000 10000 20000 50000 40000 60000 90000 

Distribution power 

service center   

(30000) 1364 1364 3272 4909 5466 13636 

Total 0 11364 21364 53272 44909 65466 103636 

Distribution 

Maintenance building 

service center   

 1017 (21364) 5086 6104 4069 5087 

Total 0 12381 0 58358 51013 69535 108723 

Distribution Human 

recourses service 

center   

 (12381)  3714 1218 2436 4952 

Total 0 0 0 62072 52231 71971 113675 

--------------------------------------------------------------------------------------- 
H. Work indirectlySupervision expenses $ 30,000 ÷ 40000 h =$h 0.75     

40000(5000+5000+4000+16000+10000) 
5000 H * $H0.75= $3750 share maintenance center from supervision expense 
5000 H * $H0.75= $3750 share storagecenter from supervision expense 
4000 H * $H0.75= $3000 share Restaurantcenter from supervision expense 
16000 H * $H0.75= $12000 share spinning center from supervision expense 
10000 H * $H0.75= $7500 share fabriccenter from supervision expense 
Rent expenses $50,000 ÷ 2000m2 =$m 25                                    Area square meters  
2000(200+400+200+800+400) 
200 m * $m25= $5000 share maintenance center from rent expense 

400 m* $m25= $10000 share storage center from rent expense 
200 m * $m25= $5000 share Restaurant center from rent expense 

800 m * $m25= $20000 share spinning center from rent expense 
400 m * $m25= $10000 share fabric center from rent expense 
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Area square meters                               Lighting expenses $4000÷ 2000m =$m 2      
2000(200+400+200+800+400) 
200 m * $m2= $400 share maintenance center from Lighting expense 

400 m* $m2= $800 share storage center from Lighting expense 
2 00 m * $m2= $400 share Restaurant center from Lighting expense 
8 00 m * $m2= $1600 share spinning center from Lighting expense 
400 m * $m2= $800 share fabric center from Lighting expense 
insurance of the machines 10% 

surance of the machines expensein60000 * 10% = $6000 share spinning center from  
surance of the machines expenseincenter from  $4000 share fabric40000 * 10% = 

        Service center Production center 

maintenance storage Restaurant spinning  fabric 

c. Materials indirectly 8000 7000 8000 7400 19600 

Supervision expenses 3750 3750 3000 12000 7500 

Rent expenses 5000 10000 5000 20000 10000 

Lighting expenses 400 800 400 1600 800 

insurance of the machines    6000 4000 

Total 17150 21550 16400 47000 41900 

 
 

+600)240number of employees 1000( 100+60+Restaurant $16400 
$16400 * (100÷1000)= $1640 share maintenance center from Restaurant serv. Cent. cost 
$16400 * (60÷1000)= $984 share storage center from Restaurant serv. Cent. cost 
$16400 * (240÷1000)= $3936 share spinning center from Restaurant serv. Cent. cost 
$16400 * (600÷1000)= $9840 share fabric center from Restaurant serv. Cent. cost 
Storage $ 21550+984=$22534 

(72+100+76) Number of bills of exchange of materials248 
$22534 * (72 ÷ 248)=$6542sharemaintenance center from storage serv. Cent. Cost 
$22534 * (100 ÷ 248)=$9086share spinning center from storage serv. Cent. cost 
$22534 * (76 ÷ 248)=$6906share fabric center from storage serv. Cent. cost 
Maintenance $ 17150+1640+6542 =$25332 
Hours machines turnover 10000(4000+6000) 
$25332 * ( 4000 ÷ 10000)=$ 10133 share spinning center from maintenance serv. Cent. cost 
$25332 * ( 6000 ÷ 10000)=$ 15199 share fabric center from maintenance serv. Cent. cost 
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        Service center Production center 

maintenance storage Restaurant spinning  fabric 

Factory overhead 17150 21550 16400 47000 41900 

Distribution Restaurant 1640 984 (16400) 3936 9840 

Total 18790 22534 0 50936 51740 

Distribution storage 6542 (22534)  9086 6906 

Total 25332 0 0 60022 58646 

Distribution Maintenance  (25332)   10133 15199 

Total 0 0 0 70155 73845 
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chapter five 

Absorption Costing Theory 

 َظريح انركانيف انًًرصح)الاجًانيح(
   Absorption Costing Concept .1 ح)الاجًانيح(صًرًركهفح انانيفهىو                         

Absorption costing is the basis of all financial accounting statement, sometime it‘s 
known as total (full) costing. Using absorption costing, all costs (direct, indirect, 

variable, and fixed) are absorbed into production. The idea in this method does not 
distinguish between different costs, production of the period must absorbed all 

cost, and the functional classification is done. 
ٟ٘ أعخط ؿ١ّغ ر١خٔخص حٌّلخعزش حٌّخ١ٌش ، ٚطؼُشف أك١خٔخً رخعُ حٌظىٍفش حلإؿّخ١ٌش )حٌىخٍِش(.  ّّظقشظىٍفش حٌحٌ

رخعظخذحَ طىٍفش حلاِظقخؿ ، ٠ظُ حعظ١ؼخد ؿ١ّغ حٌظىخ١ٌف )حٌّزخؽشس ٚغ١ش حٌّزخؽشس ٚحٌّظغ١شس ٚحٌؼخرظش( فٟ 
طش٠مش لا ط١ّض ر١ٓ حٌظىخ١ٌف حٌّخظٍفش ، ٠ـذ أْ ٠ّظـ أظخؽ حٌفظشس وً حٌظىخ١ٌف ، حلإٔظخؽ. حٌفىشس فٟ ٘زٖ حٌ

 ٠ٚظُ حٌظق١ٕف حٌٛظ١فٟ.
 

 Units of sales and Production .2 حذاخ انثيع والإَراجو                       

For the period, you must know units of sales, production and inventories as: 
Beginning inventory            XX 

Production of the period        XX 
Ending inventory          (XX) 

----------------------------------------- 
Sales units‘                          XXX   

 
 Sales Revenue .3 عاخايراد انًثي                                                          

Sales revenue calculate by this equation  
Sales revenue = Sales Units * Sales price 

 Production Cost .4 كهفح الاَراج                                                       
The production units of the period must know and the production of the last year 
also, if it is important. 

Total production cost = production units * total cost per unit 
or 

Production units * direct material per unit = XX   
Production units * direct labor per unit  = XX  

Production units * variable F.O.H per unit = XX  
Production units * fixed F.O.H per unit  = XX  

-------------------------------------------------------------- 
Total production cost                                 X XX     

5. Total cost per unit كهفح انىحذج انىاحذج الاجًانيح 
Total cost per unit is all cost for the product in the period as: 

Direct material       XX    
Direct labor            XX    

Variable F.O.H       XX   
Fixed F.O.H             XX   
--------------------------------- 
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Total cost per unit  X XX   
   Inventories Valuation .6ذمييى انًخسوٌ                     

ذج                   :A. Beginning inventory يخسوٌ اول انً
Beginning inventory, the units not sale in the last year must evaluation with the 

total cost of the last year. As: 
Beginning inventory cost = Beginning inventory units * total cost per unit for last 

year. 
 

ٌ اخر انًذج         B. Ending inventory  يحسو
Ending inventory the units not sale in the end of this year (assume it is from the 

production of this year) 
Must valuation with the total cost of this year: 

Ending inventory cost = Ending inventory units * total cost per unit for this year.  
 Total marking costs .7 ذكانيف انرسىيك الاجًانيح 

Total marking costs, the cost related with sales calculate as: 
 Total marking costs = Variable marking costs + Fixed marking costs. 

.Variable marking costs per unitVariable marking costs = Sales units *  Note: 

 
 Total Cost of Goods Sold .8 ذكهفح انثضاعح انًثاعح الاجًانيح

When you added total cost of unit sold (manufacturing) to the total market cost you 
reach total cost of goods sold.  

 Total Cost of goods sold = total cost of unit sold (manufacturing) + total 
marketing cost.    

Total cost of unit sold (manufacturing) = Total cost of production + Total  Note:
cost beginning inventory - Total cost of ending inventory. 

 
 Gross Profit .9 يجًم انرتح                                                             

Gross profit is the difference between total cost of goods sold cost and sales 
revenue: 
Gross profit = sales revenue - total  cost of goods sold 

 Net Profit .10 صافي انرتح 
It is the result after deduct the managerial cost from Gross profit. 

Net  Profit = Gross profit - Managerial cost. 
 

Example 1: The cost accountant of Ahmad Company has established the following 
data for the year 2005. 

1- Sales price per unit 250 I.D. 

2- Operating units for year  

     Production    500000 units 
 Beginning inventory 20000 units 
 Ending inventory   40000 units 
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3- Production for the last year 90% of this year. 

4- These data about the cost has available. (I.D)  

      Direct material     $ 50 
           Direct labor                 $ 40 

          Variable Factory overhead   $ 35  
    Variable Marketing cost               $10 
 Fixed Factory overhead  $ 1750000 

          Fixed Marketing cost   $ 750000 
             Administrative cost    $ 500000 

Calculate 
1- Sales  revenue 

2- Total cost of production 
3- Total cost of inventories  

4- Total marketing cost 
5- Total cost of goods sold 

6- Gross profit 
7- Net Profit 

 
 

Solution  

1- Sales Revenue = Sales Units * Sales Price 
                                   = 480000 * 250 = 120000000 (I.D) 

Sales units Calculate as:: Note 
Beginning inventory  20000 

Production          500000 
Ending inventory      (40000) 

---------------------------------------- 
Sales Units          480000 

 
2- Total cost of production year 2005: 

Direct material    50 * 500000  = 25000000 
Direct labor  40 * 500000   = 20000000 

Variable Factory overhead 35 * 500000  = 17500000 
Fixed Factory overhead      = 1750000 
                                                      -------------------------------------  

Total cost of production     = 64250000 
Or  

50 + 40 + 35 = 125 Variable cost per units. 
(125 * 500000) = 62500000 (I.D) Variable cost of production 

62500000 + 1750000 = 64250000 (I.D) Total cost of production 
3- Total cost of inventory: 
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A- Total cost of beginning inventory = beginning inventory units* Total cost per 
units (last year). 

= 20000 * 128.889 = 2577780 (I.D). 
Note: Total cost of per unit year 2004: 

               Fixed F.O.H                    = 1750000    =   3.889 (I.D). 
    Production of the last year  450000 

3.889 + 50 + 40 + 35 = 128.889 (I.D). 
 

B- Total cost of  Ending inventory =  Ending inventory units * Total cost of  per 
units (this year). 

= 40000 * 128.5 = 5140000 (I.D). 
Total cost of per unit year 2005:  :Note 

         Fixed F.O.H                     = 1750000    =   3.5 (I.D). 
    Production of this year  500000 

3.5 + 50 +40 + 35 =128.5 (I.D). 
4- Total Marketing Cost = Variable Marketing Cost + Fixed Marketing Cost. 
= (10*480000) + 750000  =  5550000 (I.D). 

5- Total cost of goods sold = total cost of unit sales (manufacturing) + Total 
marketing cost. 

 61687780 + 5550000 = 67237780 (I.D). 
Note: Total cost of unit sales (manufacturing) = Total cost of production + Total 

cost of beginning inventory - Total cost of Ending inventory. 
= 64250000 + 2577780 – 5140000 = 61687780 (I.D). 

6- Gross profit = Sales Revenue - Total cost of good sales. 
= 120000000 – 67237780 = 52762220 (I.D). 

7- Net Profit = Gross profit – managerial cost. 
52762220 – 500000 = 52262220 (I.D). 

 
Income Statement under Absorption Costing 
Income Statement is a report explains all activities of the company for the period 

from 1-1/31-12 the result of the Statement must be net profit or net loss. The form 
of the Statement as below: 

 Income Statement of (X) company For the period from 1-1/31- 12 

Sales Revenue 
sold sCost of good 

Direct material 
Direct labor 

Variable F.O.H 
Fixed F.O.H 

Total cost of production 
Total cost of beginning inventory 

Total cost of unit available for sale 
Total cost of  ending inventory 

 
 

  Xx   
  xx 

  xx 
xx   

 
 

 
 

 
Xxx 

Xx   
Xx 

(Xx) 
Xx 

Xx 
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Total cost of unit sold (manufacturing) 
Total marketing cost 

Total cost of  goods sold 
Gross profit 

Managerial cost 
Net Profit 

xx     
 

    (Xx) 
Xx 

(Xx)   
xx 

 

Example:- Prepare income statement from the information in ex: 1 using 
absorption costing. 

Solution  
Income statement for Ahmad Company 1-1/ 31-12/ 2005 

Sales Revenue 

sold sTotal cost of good 
Direct material 

Direct labor 
Variable F.O.H 
Fixed F.O.H 

Total cost of production 
Total cost of beginning inventory 

Total cost of unit available for sale 
Total cost of  ending inventory 

Total cost of unit sold (manufacturing) 
Total marketing cost 

Total cost of  goods sold 
Gross profit 

Managerial cost 
Net Profit 

 

 
25000000 

20000000 
17500000 
1750000 

 

 
 

 
 
 

64250000 
2577780 

66827780 
(5140000) 

61687750 
5550000 

  

120000000 

 
 

 
 
 

 
 

 
 

 
 

(67237780) 
52762220 

(500000) 
52262220 
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Variable Costing Theory 
 َظريح انركانيف انًرغيرج

Variable costing makes a distinction between product costs and period costs. 
Product costs consist only of prime costs for direct material and direct labor plus 

variable factory overhead. These are the costs assigned to inventories (work in 
process and finished goods) and cost of goods sold. Fixed factory overhead is 

included with other period fixed expenses, such as marketing and administration 
expenses. 

ٓ حٌظىخ١ٌف حلأ١ٌٚش ٌٍّٛحد  ْ طىخ١ٌف حٌّٕظؾ فمو ِ ٓ طىخ١ٌف حٌّٕظؾ ٚطىخ١ٌف حٌفظشس. طظىٛ ط١ّض حٌظىٍفش حٌّظغ١شس ر١
ٝ ح ٟ حٌظىخ١ٌف حٌّخققش حٌّزخؽشس ٚحٌؼّخٌش حٌّزخؽشس رخلإمخفش اٌ ٌٕفمخص حٌؼخِش حٌّظغ١شس ٌٍّقٕغ. ٘زٖ ٘

ٓ حٌٕفمخص حٌؼخِش  حلأظخؽ طلض حٌظؾغ١ًٌٍّخضْٚ ) ٚحٌغٍغ حٌظخِش حٌقٕغ( ٚطىٍفش حٌزنخثغ حٌّزخػش. ٠ظُ طن١ّ
ظغ٠ٛك ٚحلإدحسس. ٜ ٌٍفظشس ، ِؼً ِقخس٠ف حٌ     حٌؼخرظش ٌٍّقٕغ ِغ حٌّقخس٠ف حٌؼخرظش حلأخش

2. Units of Sales and Production:- The same in absorption costing.  
3. Sales revenue:- The same in absorption. 
4. Production Cost:- The production units of the period must be known and the 

production of the last year also, if it is important. 
Variable cost of production calculates as: 

Variable production cost = production units * Variable cost per units. 
Or: 

Production units * Direct material per units =   xx 
Production units * Direct labor per units =     xx 

Production units * Variable F.O.H per units =  xx 
------------------------------------------------------------------ 

Variable production cost     xxx 
 

5. Variable cost per unit 
Variable cost per unit is the cost for product in the period as: 
Direct material   xx 

Direct labor                      xx 
Variable F.O.H  xx 

       ------------------------------- 
Variable cost per unit    xxx 

6. Inventories Valuation  
A- Beginning inventory:  Beginning inventory, the units not sale in the last period 

must evaluation with the variable cost of the last period as: 
Beginning inventory cost = Beginning inventory units* Variable cost per unit 

for the last period. 
B- Ending inventory:- Ending inventory the units not sale in the end of this period 

(assume it is from the production of this period) must valuation with the variable 
costs of this period. 
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Ending inventory cost = Ending inventory units * Variable cost per units for 
this period. 

Variable cost per unit is satiable from period to period.    Note: 
7. Variable Marketing Cost  

Variable marketing cost, the cost related with sales calculates as: 
Variable marketing cost = sales units * Variable marketing cost per unit. 

8. Variable Cost of Goods Sold   
When you added variable cost of unit sold (manufacturing) to the variable 

marketing cost, you can reach variable cost of goods sold. 
Variable cost of goods sold = Variable cost of unit sold (manufacturing) + 

Variable marketing cost. 
Variable cost of unit sold (manufacturing) = variable cost of production   Note:

+ variable cost of beginning inventory - variable cost of ending inventory. 
9. Contribution Margin :- Contribution Margin is the different between variable 

cost of goods sold and sales revenue. 
Contribution Margin = Sales revenue - Variable cost of goods sold. 
10. Net Profit:- It is the result after deduct all fixed costs (factory overhead, 

marketing and administration) from Contribution Margin. 
 

 
 

Example 2:- The cost accountant of (Y) Company has established the following 
data for the year 2001: 

1- Operating units for the year:  
Beginning inventory   40000 

Production            250000 
Ending inventory            20000 

2- Production for the last year was 200000 units. 
3- These data about the cost has available:  
Direct material    10 

Direct labor                    15 
Variable F.O.H    10 

Fixed F.O.H              5 
 

Variable marketing cost   5 
Fixed marketing cost    750000 

Administrative cost  500000 
4- Sales price per unit is 80 (I.D) 

Calculate 
1-Sales revenue 

2- Variable cost of production. 
3- Variable cost of inventories.  

4- Variable marketing cost. 
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5- Variable cost of goods sold.  
6- Contribution margin. 

7- Net Profit. 
 

Solution 
1- Sales Revenue = Sales Units * Sales Price 

    = 270000 * 80 = 21600000 (I.D). 
Sales units Calculate as: Note: 

Beginning inventory   40000 
Production             250000 

Ending inventory             (20000) 
--------------------------------------------- 

Sales Units       270000 
 

2- Variable cost of production 
Direct material   10 *250000 =  2500000 
Direct labor          15 *250000 = 3750000 

Variable F.O.H    10 *250000 =  2500000 
 --------------------------------------------------- 

Variable cost of production     8750000   
 0r: 

(10+ 15 + 10) * 250000 = 8750000 (I.D). 
3- Variable cost of inventories:  

A- Variable cost of beginning inventory = Beginning inventory units *   Variable 
cost per unit. 

40000 * 35 =1400000 (I.D). 
B- Variable cost of ending inventory =   Ending inventory units * Variable cost per 

unit. 
20000 * 35 =700000 (I.D). 
4- Variable marketing cost 

Variable marketing cost = Sales units * Variable marketing cost. 
270000 * 5 = 1350000 (I.D). 

  
5- Variable cost of goods sold = Variable cost of unit sold (manufacturing) + 

Variable marketing cost. 
9450000 + 1350000 = 10800000 (I.D). 

Note:  
Variable cost of unit sold (manufacturing) = Variable cost of production + Variable 

cost of beginning inventory - Variable cost of ending inventory. 
= 8750000 + 1400000 – 700000 = 9450000 (I.D). 

6- Contribution margin cost. 
Contribution Margin = Sales revenue - Variable cost of goods sold. 

21600000 – 10800000 = 10800000 (I.D). 
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7- Net Profit 
Net Profit = Contribution Margin – all fixed costs (F.O.H + Marketing cost + 

Administrative cost). 
10800000 – (1250000 + 750000 + 500000) = 8300000 (I.D). 

Fixed F.O.H per unit calculated as:  -Note : 
                            fixed F.O.H    Fixed F.O.H per unit = 

                                                Production 
 X = 1250000 (I.D).=   5 (I.D) 

                   250000 
Income Statement under Variable Costing 

Income Statement is a report explains all activities of the company for the period 
from 1-1/31-12 the result of this Statement must be net profit or net loss. The form 

of this Statement as below: 
Income Statement of (x) company for the period 1-1/31-12 200x 

Data    

Sales Revenue   xxx 

Variable cost of goods sold    

Direct material xx   

Direct labor         xx   

Variable F.O.H   xx   

Variable cost of production    xx  

Variable cost of beginning inventory  xx  

Variable cost of unit available for sale  xxx  

Variable cost of ending inventory  (xx)  

Variable cost of unit sold manufacturing  xx  

Variable marketing cost  xx  

Variable cost of goods sold   (xxx) 

Contribution Margin    xx 

Fixed costs     

F.O.H  xx   

Marketing  xx  

Administrative  xx  

Total fixed costs   (xxx) 

Net profit   xx 

 
Example 3:- Prepare income statement from the information in ex.2 using variable 

costing. 
Solution 

Income Statement of (Y) company for the period 1-1/31-12 2001 

Data    

Sales Revenue   21600000 

Variable cost of goods sold    
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Direct material 2500000   

Direct labor         3750000   

Variable F.O.H    2500000   

Variable cost of production    8750000  

Variable cost of beginning inventory  14000000  

Variable cost of unit available for sale  10150000  

Variable cost of ending inventory  (700000)  

Variable cost of unit sold 
manufacturing  

 9450000  

Variable marketing cost  1350000  

Variable cost of goods sold   (10800000) 

Contribution Margin   10800000 

Fixed costs    

 F.O.H  1250000  

Marketing  750000  

Administrative  500000  

Total fixed costs   (2500000) 

Net profit   8300000 

 

Example A:- The Cup Company produced 10000 units of the product during April 
and May of 2002. During this period, 8000 of these units were sold at 150 (I.D) per 

unit. The following represent the operations of these two months: 
Direct material   20 per unit   

Direct labor   10 per unit  
Fixed overhead  60% of total factory overhead 

For the two- month period, total expenses were as follows: (I.D) 
Heat     20000 

Light              20000 
Fuel    20000 
Depreciation  30000 

Maintenance  15000 
Rent    50000 

Insurance   15000 
Indirect labor  20000 

Repairs   25000 
Taxes             25000   

Marketing and administrative expense 35000, 15000       
Prepare income statement using: (1) absorption costing (2) variable costing. 

Solution 
1- Total factory overhead 

Heat     20000 
Light    20000 
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Fuel    20000 
Depreciation  30000 

Maintenance  15000 
Rent    50000 

Insurance   15000 
Indirect labor  20000 

Repairs   25000 
Taxes   25000  

--------------------------------------    
Total    240000 

Fixed F.O.H = 240000 * 60% = 144000 (I.D). 
Variable F.O.H = 240000 * 40% = 96000 (I.D). 

2- Sales Revenue = 8000 * 150 = 1200000 
= 54 540000  Fixed cost per unit =  -3 

                                               10000     
4- Total cost end Inv. = 2000 * 54 = 108000 (I.D). 
5- Variable cost end Inv. = 2000 * 39.6 = 79200   

Income Statement of (CAP) Company 
For the period of April and May 2002 Absorption costing 

Data    

Sales Revenue   1200000 

cost of goods sold    

Direct material 20*10000 200000   

Direct labor  10*10000       100000   

Variable F.O.H    96000   

 Fixed F.O.H    144000   

 Total cost of  production  540000   

Total cost of beginning inventory  0  

Total cost of unit available for sale  540000  

Total cost of ending inventory   (108000)  

Total cost of unit sold manufacturing  432000  

Total marketing cost  35000  

Total cost of good sold   467000 

Gross profit    733000 

Administrative cost   (15000) 

 Net profit   718000 
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Income Statement of (Y) company 
for the period  April and May 2002 variable  costing 

Data    

Sales Revenue   1200000 

cost of goods sold    

Direct material 200000   

Direct labor         100000   

Variable F.O.H    96000   

Variable cost of production    396000  

Variable cost of beginning 
inventory 

 0  

Variable cost of unit a variable for 

sale 

 396000  

Variable cost of ending inventory  (79200)  

Variable cost of unit sold   316800  

Variable marketing cost  0  

Variable cost of goods sold   (316800) 

Contribution Margin   883200 

Fixed costs    

Factory overhead  144000  

Marketing  35000  

Administrative  15000  
 (194000) 

Net profit   689200 

 

Example B-: The cost data for Noor Corporation are as shown below: 
     2001   2000 

Sales (units)           125000               95000 
Selling price          60   50 

Beginning inventory  15000              10000 
Ending inventory             10000               15000 

Production    120000  100000 
Direct material    10     10 

Direct labor               15   15  
Variable F.O.H                 5   5 

Fixed F.O.H      2   2.4 
Market (70% variable)         30000             20000 

Administrative expenses         20000            10000 
Required:- 
1- prepare an income statement for 2001 using absorption costing. 

2- prepare an income statement for 2001 using variable costing. 
3- prepare an income statement for 2000 using variable costing. 
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Solution (1) 
1-Total cost of production:(10+15+5+2) * 120000 = 3840000 (I.D). 

2-Total cost of beginning inventory 
(10+15+5+2.4) * 15000 = 486000 (I.D). 

3- Total cost of ending inventory     
 (10+15+5+2) * 10000 = 320000 (I.D). 

4-variable market cost 
30000*70%= 21000 (I.D). 

5-Fixed marketing cost  
30000*30% = 9000 (I.D). 

6-Sales Revenue 
125000*60 = 7500000 (I.D). 

  7- Variable cost per unit 
(10+15+5) = 30 (I.D). 

8- Variable cost of beginning inventory= 30*15000 = 450000 (I.D). 
Income Statement for Noor Corporation 

For year 2001 Absorption costing 

Data    

Sales Revenue   7500000 

Cost of goods sold    

Direct material   1200000   

Direct labor          1800000   

Variable  F.O.H     600000   

 Fixed F.O.H        24000   

 Total cost of  production  3840000   

Total cost of beginning inventory  486000  

Total cost of unit available  for sale   4326000  

Total cost of ending inventory    (320000)  

Total cost of unit sold (manufacturing)  4006000  

Total marketing cost  30000  

Total cost of good sold   4036000 

Gross profit     3464000 

Administrative cost   (20000) 

 Net profit   3444000 
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Solution (2) 

Income Statement for Noor Corporation 
For year 2001 variable costing 

Data    

Sales Revenue   7500000 

cost of goods sold    

Direct material 1200000   

Direct labor         1800000   

Variable F.O.H   600000   

Variable cost of production     3600000  

Variable cost of beginning inventory   450000   

Variable cost of unit available for sale   4050000  

Variable cost of ending inventory   (300000)  

Variable cost of unit sold 
(manufacturing) 

   3750000  

Variable marketing cost  21000  

Variable cost of goods sold    (37710000) 

Contribution Margin   3729000 

Fixed costs    

Factory overhead 240000   

Marketing 9000   

Administrative 20000  269000 

Net profit   3460000 

(3) Solution:  
Year 2000 
Sales Revenue = 95000 * 50 = 4750000 (I.D). 

Variable cost per unit = 10+15+5 = 30 (I.D). 
Variable cost of production = 30*100000 = 3000000 (I.D). 

Variable cost of beginning inventory = 30*10000 = 300000(I.D). 
Variable cost of ending inventory = 30*15000 = 450000 (I.D). 

Variable market cost = 20000 * 70% = 14000 (I.D). 
Fixed marketing cost = 20000 * 30% = 6000 (I.D). 

Total fixed factory overhead =100000 *2.4 = 240000 (I.D). 
Income Statement for Noor Corporation 

For year 2000 Variable costing 

Data    

Sales Revenue   4750000 

cost of goods sold    

Direct material 1000000   
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Direct labor         1500000   

Variable  F.O.H  500000   

Variable cost of production     3000000  

Variable cost of beginning inventory   300000   

Variable cost of unit available for sale  3300000  

Variable cost of ending inventory  (450000)  

Variable cost of unit sold 

(manufacturing) 

   2850000  

Variable marketing cost   14000  

Variable cost of goods sold    (2864000) 

Contribution Margin   1886000 

Fixed costs    

Factory overhead 240000   

Marketing 6000   

Administrative 10000  (256000) 

Net profit    1630000 

 

 
Exercises 

 

Exercise 1:-  Income Statement: Variable Costing vs. absorption costing. The 
following data summarized the operations for the Ruff Skin Company for the 

current year. 
 Sales, 52 units @ $522 …………………….. $5,222 

 Production  costs, 60 units 
Direct material 62 @ $02 …………………...1200 

Direct labor,    62 @ $52 ……………………622 
Variable factory overhead, 62@ $6…………262 

Fixed factory overhead, 62@ $5……….……052  
Operation expenses  

 Variable, 52 @ $1 ………………………….022 
 Fixed,      52@ @2…………………………..502 

Required :Prepare income statement using : 
a. absorption costing  
b. variable costing 

 
Exercise 2:- Inventory Cost – Variable vs. Absorption Costing.  

As part of its investigation regarding the possible adoption of variable costing, the 
management of the Anderson Company asks the controller what effect the 

adoption of such procedures would have on inventories. In developing the answer 
to this question the following figures, representing operations for the past year, are 

used: 
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Units produced–50,000, of which 15,000 were not sold  
Direct material ………………….. $562,222 

Direct labor ………………………022,222 
Factory overhead: 

 Fixed expenses …………….. 31,222 
 Variable expenses…………..512,222 

Required: 
(1) the cost to be assigned the 15,000 units in inventory using absorption costing. 

2) the cost to be assigned the 15,000 units in inventory using direct costing. 
 

 Exercise 3: -Income Statement – full vs. Variable Costing.  
The Fleming Corporation produced 24,000 units of product during the first quarter 

of 19-. 20,000 were sold @ $20 per unit. Cost of this production was: 
Material …………………………$62,222   

Direct labor ………………………62,222 
Factory overhead: 
Variable costs ……………………502,222 

Fixed cost ……………………….96000 
Marketing and administration expenses for the quarter total $50,000; all are fixed 

expense. 
Required: 

(1) An income statement using full costing. 
(2) An income statement using variable costing.  

 
Exercise 4:- Absorption vs. Variable Costing. Income Statement.  

The following data pertain to the operations of the McCoy Manufactory Company 
for the year 2018: 

 Sales in units: 75,000 
Finished goods inventory, January 1,19A: 12,000 units 
Finished goods inventory, December 31, 19A: 17,000 units 

Units sales price : $10 
Manufactory costs: 

  Variable costs per production: $4 
  Fixed factory overhead: $160,000 

Marketing and administrative expenses:  
Variable costs per unit of sales: $1 

Fixed marketing and administrative expenses: $150,000 
Required:  

1) An income statement for 19A under absorption cost concept. 
2) An income statement for 19A under the variable concept. 

3) An accounting for the difference in profit under the two concepts. 
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chapter six  

Job order costing 

  In job order industries , production work is done against 

order From customers each job work need special treatment and 

can be clearly distinguished from other jobs . for examples of 

job Order industries are printing press , construction of building 

, Bridges roads , ship building . 

حِش حٔظخؿٟ  ؼًّ ِمخرً ٌطٍذ حٌؼّلاء ، وً  حٔظخؽ حٌ، ٠ظُ حلاٚحِش حلأظخؿ١ش خصفٟ فٕخػ

شٜ. ٌٍلقٛي ػٍٝ حلأخ حلاٚحِش٠لظخؽ اٌٝ ِؼخٍِش خخفش ٠ّٚىٓ ط١١ّضٖ رٛمٛف ػٓ 

حٌـغٛس ٚطشق حٌ، ٚ ٚحػّخي حٌزٕخء،  طزخػشحٌ ِؼً حلاٚحِش حلأظخؿ١شأِؼٍش ػٓ فٕخػخص 

                                                                                         .، ٚرٕخء حٌغفٓ

Objectives of job  

The following are costing the main objectives of job costing 

1-Cost of each job is ascertained separately . this helps in Findin
g
 . 

out the profit or loss on each job 

2- It enables management to detect those job which are more 

Profitable and those which are unprofitable . 

3-It provides a basis for determining the cost of similar 

jobs under taken in future. 

4-It helps management in controlling cost , be comparing the 

Actual cost with the estimated cost . 

 حلاٚحِش حلأظخؿ١شأ٘ذحف 

 ٌلأٚحِش حلأظخؿ١ش شف حٌشث١غ١ح٘ذف١ّخ ٠ٍٟ حلا

 حِشىً ٌ٘زح ٠غخػذ فٟ ا٠ـخد حٌشرق أٚ حٌخغخسس ٚ ػٍٝ كذس حِش٠ظُ حٌظؤوذ ِٓ طىٍفش وً  - 1

 .غ١ش ِشرلشحٌٚ حوؼش حٌّشرلش لاٚحِشطّىٓ حلإدحسس ِٓ حٌىؾف ػٓ ح - 2

 .٠ٛفش أعخعًخ ٌظلذ٠ذ طىٍفش حٌٛظخثف حٌّّخػٍش حٌظٟ ٠ظُ حطخخر٘خ فٟ حٌّغظمزً - 3

   .حٌظىٍفش ِٚمخسٔش حٌظىٍفش حٌفؼ١ٍش رخٌظىٍفش حٌّمذسس٠غخػذ حلإدحسس فٟ حٌظلىُ فٟ  - 4

  

 Job costing procedureحؿشحءحص حلاٚحِش حلأظخؿ١ش   

The following steps ate taken in jobs costing. 

1-job number .سلُ حلاِش 

2-Production order.  ٟحلاِش حلأظخؿ 

 Job cost sheet-3     .ٚسلش حلاِش حلأظخؿٟ   
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J o b  c o s t  s he e t  

 

Customer 
Date commencement 

 job No 
date of completion___ 

 

Material cost Labor cost factory over head 

Date Material Amount 

I.D 

Date Hours Rot Amount 

I.D 

dep hours Rat am 

ant 

           

 Total          

 

cost of job 

order 

1-Direct cost : it 

means 

a-Direct 

materials 

b-  Direct 

wages 

2-In Direct cost : it means 

Material                              ___________ 

Labor                                   ___________ 

Factory overhead                 ___________ 

Administration overhead    ___________   

Selling overhead                 ___________ 

Total cost                                       ___________ 
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a- In Direct materials b-In Direct wages c-In Direct expenses.   

The Direct cost and in direct cost in all cost centers are total Ned 

to give the total cost 

When the jobs are completed , the cost is transferred to cost of 

sales account . the total cost of jobs completed during each period 

is set against the sales to determine the profit or loss for the period  

The Journal entries : 
 

 

The Journal entries for direct material, direct labor and factory 

overhead are given below : 

A- direct material : 

     

    Work in progress control     *** 

                     Cash  or debtors                 *** 

       To record purchase of material 

 

 B- Material witch received from store room 

 

 

          Work in progress control     *** 
                          

                            Stores control                        *** 

 

C - Material sends back to storeroom : 

                        Stores control                        *** 

                                  Work in progress control      *** 

 

D- direct labor : 

 

           Work in progress control      *** 

 

                    Wages control                    *** 
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E- factory overhead : 

 

                Factory overhead control      *** 

                    in direct material                  *** 

                    indirect labor                        ***  

                    indirect expense                   *** 

F- To record applied overhead to job order : 

         

         Work in progress                   ***     

                 Factory overhead applied             ****    

G- overhead variance  : 

               Variance = Actual factory overhead    _ predetermined overhead   

 
         Positive variance : 

                       Factory overhead control      *** 

                             Variance factory overhead          ***  

     

 

          Negative variance : 

          Variance factory overhead          ***    

                     Factory overhead control      *** 

Example 1 

From the following in formation prepare job cost sheet 

Particulars job No 1 job No2 Amount 

Direct materials 2000 1000 3000 

Direct wages 1500 2250 3750 

Machine hour 500 750  

 

The overhead loaded by I.D .2 for machine hour. 
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Solution 

Job cost sheet 

  

 

 

 

 

 

 

 

 

 

Example 2  

From the following information prepare job cost sheet for the year ended 

2015 

Particulars job No 1 job No 2 job No Amoun

t Direct materials 3000 1500 4500 9000 

Direct wages 2500 3000 5500 11000 

Machine hour 1250 1750 2000  

 

 

The overhead cost loaded by LD 2 for machine hour 

Job cost sheet 

Particulars Job No 1 Job No 2 Job No3 Amount 

     

Direct materials 3000 1500 4500 9000 

Direct wages 2500 3000 5500 11000 

Prime cost 5500 4500 10000 20000 

Particulars Job No 1 Job No 2 Amount LD 

Direct material 2000 1000 3000 

Direct wages 1500 2250 3750 

Prime cost 3500 3250 6750 

Supposed over 

head 

1000 1500 2500 

Supposed cost 4500 4750 9250 
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Supposed overhead 2500 3500 4000 10000 

Supposed cost 8000 8000 14000 30000 

 

 

 
  

Example 3 

From the following in formation prepare job cost sheet for the year 

ended 2007 

Particular job No l job No 2 job No 3 amount 

Direct materials 2000 1000 3000 6000 

Direct wages 1500 2000 4000 7500 

The overhead cost laded by 150% from direct materials 

Solusion 

Example(4):- The following data for the month of March(1), the first in March 
was up ( 1) under operation at a cost of $ 2,000 direct materials 3000$ wages 

directly (2)during the month of March began operating on the order  and at all 
costs during the month of March as follows: 

                                            Itis1 ,                      2 
       Direct materials       $4000                   $ 5000 

      Wages directly          $ 8000                 $ 6000 
The wage rate at $2/hour  and the rate of loading additional costs of $ 3/hour 
Factory overhead include ( 40 % Electric expense , 50 % insurance of machine , 

10% rent  of  plant )    
Required:- 1- preparation cost for cards is 1 and 2 is for the month of March? 

Direct materials 2000 1000 3000 6000 

Direct wages 1500 2000 4000 7500 

Prime cost 3500 3000 7000 13500 

Supposed overhead 3000 1500 4500 9000 

Supposed cost 6500 4500 11500 22500 

 

Solution 



78 
 

2- record journal entries, If you know that actual F .O.H  were 21000 and the order 
save been their finished and taken to warehouses. 

Solation :-    work cost card 1 

Date Materials wages Factory overhead 

Balance 2000 3000 - 

During the month 4000 8000 12000 

Total 6000 11000 12000 

 
$ 8000 / $ h 2 = 4000 hour 

4000 hour * $ h 3 = $ 12000 factory overhead 
Cost Summary 

Materials                 6000 
Wages                     11000 

Factory overhead 12000 
Total                       29000 

 
 
 

 
work cost card 2 

Date Materials wages Factory overhead 

During the 

month 

5000 6000 9000 

Total 5000 6000 9000 

 

$6000 / $ h 2 = 3000 hour  
3000 hour * $ h 3 = $ 9000 factory overhead 

Cost Summary 
        Materials                 5000 

       Wages                     6000 
       Factory overhead  9000 

     Total                        20000 
2/ record journal entries. 

1- Using materials of production 

        Work in process  (1)  4000 

       Work in process  (2)  5000 
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             Materials control              9000 

2- substantiation of  wages 

    Wages & salaries control  14000 

      Accrued Wages & salaries     14000 

3- Upload wages  

       Work in process (1)       8000 

       Work in process (2)        6000 
            Wages & salaries control         14000 

4-   Substantiation     0 حلإػزخصf  F.O.H  
  Electric expense          8400 

  insurance of machine  10500 
  rent of plant                   2100 

            accrued expenses              21000 
 

.    Actual  F. o. H  control         21000 
                   Electric expense                 8400 

                  insurance of machine       10500 
                  rent of plant                          2100 

5- Upload factory overhead  

       Work in process (1)       12000 
        Work in process (2)        9000 

            Estimated F. o . H  control         21000 
6- Finished goods control  49000 

                         Work in process (1)       29000 
                          Work in process (2)        20000 

 

      

Exercises 

 
Exercese.1/ The Cambridge Company uses job order costing. At the beginning of 
the May, two jobs were in process: 

  
  Job 369 Job372 
Materials $ 2,000 $ 700 

  Direct labor 1,000 300 
  Applied factory overhead 1,500 450 

There was no inventory of finished goods on May1. During the month, Jobs 
373, 374, 375, 376, 378, and 379 were started. 

Materials requisitions for May totaled $13,000, direct labor cost, $10,000, and 
actual factory overhead, $16,000. Factory overhead is applied at a rate of 
150% of direct labor cost. The only job still in process at the end of May is No. 

379, with costs of $1,400 for materials and $900 for direct labor. Job 376, the 
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only finished job on hand at the end of May, has a total cost of $2,000. 
Required: 

1. T accounts for work in process, finished goods, cost of goods sold, 
factory overhead control, and applied factory overhead. 

2. General journal entries to record: 
a. Cost of goods manufactured 

b. Cost of goods sold 
c. Closing of over or under applied factory overhead to cost of goods 

sold 
Ex.2 / Beaver, in com .  provided the following data for January, 2013: 

Materials and supplies:   
Inventory, January 1, 2013 $10,000 

Purchases on account 30,000 
Labor:   

Accrued, January 1, 2013 3,000 
Paid during January (ignore payroll taxes) 25,000 
Factory overhead costs:   

Supplies (issued from materials) 1,500 
Indirect labor 3,500 

Depreciation 1,000 
Other factory overhead costs (all from outside suppliers on 

account) 
14,500 

Work in process:   

  Job1 Job2 Job3 Total 
Work in process January 1, 

2013 
$ 1,000 -- -- $ 1,000 

Job costs during January:         

Direct materials 4,000 $6,000 $5,000 15,000 

Direct labor 5,000 8,000 7,000 20,000 
Applied factory overhead 5,000 8,000 7,000 20,000 
Job 1 started in December, 2012, finished during January, and sold to a customer 

for $21,000 cash 
Job 2 started in January, not yet finished. 

Job 3 started in January, finished during January, and now in the finished 

goods inventory awaiting customer's disposition Finished goods inventory 

January 1, 2013.                                     

 Required:- Journal entries, with detail for the respective job orders and factory 
overhead subsidiary records, to  record the following transactions for the January: 

1. Purchase of materials on account. 
2. Labor paid. 

3. Labor cost distribution. 
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4. Materials issued. 
5. Depreciation for the month. 

6. Acquisition of other overhead costs on credit. 
7. Overhead applied to production. 

8. Jobs completed and transferred to finished goods. 
9. Sales revenue. 

10. Cost of goods sold. 
 

Ex.3 / Hegel Company is a manufacturing firm that uses job order costing system. 
On January 1, 2013 the beginning of its fiscal year, the company's inventory 

balances were as follows:- 
Raw materials 

Work in process 
Finished Goods 

$20,000 

$15,000 
$30,000 

The company applies overhead cost to jobs on the basis of machine-hours worked. 
For the current year, the company estimated that it would work 75,000 machine-
hours and incur $450,000 in manufacturing overhead cost. The following 

transactions were recorded for the year 
1. Raw materials were purchased on account, $410,000. 

2. Raw materials were requisitioned for use in production, $380,000 ($360,000 

direct materials and $20,000 indirect materials). 

3. The following costs were incurred for employee services: direct labor, 

$75,000; indirect labor, $110,000; sales commission, $90,000; and 
administrative salaries, $20,000. 

4. Sales travel costs were $17,000. 

5. Utility costs in the factory were $43,000. 

6. Advertising costs were $180,000. 

7. Depreciation was recorded for the year, 350,000 (80% relates to factory 
operations, and 20% relates to selling and administrative activities). 

8. Insurance expired during the year, $10,000 (70% relates to factory 
operations, and 30% relates to selling and administrative activities). 

9. Manufacturing overhead was applied to production. Due to greater than 

expected demand for its products, the company worked 80,000 machine-
hours during the year(actual). 

10. Goods costing $9,00,000 to manufacture according to their job cost sheets 
were completed during the year. 
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11. Goods were sold on account to customers during the year at a total selling 

price of $1,500,000. The goods cost $870,000 to manufacture according to 

their job cost sheets. 

Required: 

1. Prepare journal entries to record the preceding transactions. 

2. Post the entries in (1) above to T-accounts (don't forget to enter the 

beginning balances in the inventory accounts). 

3. Is manufacturing overhead under applied or over applied for the year? 

Prepare journal entry to close any balance in the manufacturing overhead 

account to cost of goods sold (COGS). Do not allocate the balance between 

ending inventories and cost of goods sold (COGS). 

4. Prepare an income statement for the year. 

Ex.4/-The Fine manufacturing company uses job order costing system. The 
company uses machine hours to apply overhead cost to jobs. At the beginning of 

2012, the company estimated that 150,000 machine hours would be worked and 
$900,000 overhead cost would be incurred during 2012. 

The balances of raw materials, work in process (WIP), and finished goods at the 
beginning of 2012 were as follows: 

Raw materials $ 40,000 

Work in process 
 

30,000 

Finished goods 
 

60,000 

The Fine manufacturing company recorded the following transactions during 2012: 

a. Raw materials purchased on account, $820,000. 

b. Raw materials were requisitioned for use in production, 
$760,000 ($720,000 direct materials and $40,000 indirect 

materials). 

c. Direct labor , $150,000; indirect labor, $220,000; sales 

commission, $180,000; and administrative salaries, $400,000. 

d. Sales travel costs were $34,000. 

e. Utility costs incurred in the factory, $86,000. 

f. Advertising expenses were $360,000. 

g. Depreciation for the year was $700,000 ($560,000 relates to 

factory and $140,000 relates to selling and administrative 
activities). 

h. Insurance expired during the year, $20,000 ($14,000 relates to 
factory operations and $6,000 relates to selling and 
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administrative activities). 

i. Fine manufacturing company worked 160,000 machine hours. 

Manufacturing overhead was applied to production. 

j. Goods costing $1,800,000 were completed during the year. 

k. The goods costing $1,740,000 were sold to customers for 
$3,000,000. 

Required:  1. Prepare journal entries, T-accounts and income statement from the 

above information. 

 2.Prepare a journal entry to close the balance in manufacturing   overhead 
account (over or under applied manufacturing overhead) to cost of goods 

sold. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

http://www.accountingformanagement.org/income-statement/
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 chapter seven 

 

Process Costing  System 

 ٔظخَ حٌّشحكً حلأظخؿ١ش

  
Under a process cost system, costs are accumulated according to each department, 
cost center or process. The average unit cost for a day, week or year is obtained by 
dividing the department cost by the number of units (tons, gallons, etc.) produced 

during the particular period.   
Process costing, is probably the most widely used cost system , it  represents, a 

type of costing procedure for mass production industries producing standard 
Products.  

Industries using process costs are paper, steel, chemicals, textiles, oil refining, 
flourmills, food manufacture, milk diary, sugar works .....etc 

َ طىٍفش  ً ٔظخ ُ أٚ ِشوض طىٍفش أٚ ػ١ٍّش.  حٌّشكٍشفٟ ظ ُ طـ١ّغ حٌظىخ١ٌف ٚفمخً ٌىً لغ ُ حٌلقٛي ػٍٝ ٚ، ٠ظ ٠ظ
َ أٚ ْ ، اٌخ(  ِظٛعو طىٍفش حٌٛكذس ١ٌٛ ٝ ػذد حٌٛكذحص )هٓ ، ؿخٌٛ ُ ػٍ أعزٛع أٚ عٕش رمغّش طىٍفش حٌمغ

 حٌّٕظـش خلاي فظشس ِؼ١ٕش.
ْ طىْٛ طىٍفش  ً أ ً ٔٛػًخ ِٓ اؿشحءحص طمذ٠ش  حٌّشكٍشِٓ حٌّلظّ خ ، فٟٙ طّؼ ًِ َ حٌظىٍفش حلأوؼش حعظخذح ٟ ٔظخ ٘

ٟ طٕظؾ ِٕظـخص ل١خع١ش. ُ حٌظ  حٌظىخ١ٌف ٌقٕخػخص حلإٔظخؽ حٌنخ
ٟ حٌٛسق ، ٚحٌقٍذ ، ٚحٌّٛحد حٌى١ّ١خث١ش ، ٚحٌّٕغٛؿخص ، ٚطىش٠ش حٌقٕخػخ  َ طىخ١ٌف حٌؼ١ٍّش ٘ ٟ طغظخذ ص حٌظ

 حٌل١ٍذ ، ٚأػّخي حٌغىش ..... اٌخ ٕظـخصحٌض٠ض ، ِٚطخكٓ حٌذل١ك ، ٚفٕخػش حلأغز٠ش ، ِٚ

  

Process costing procedure  

The essential system in costing procedure are : 

1-the factory is divided in to a number of process & an account 

is maintained for each process. 

2 -  each process account debited wi th materials cost  labor cost  
     

Direct   expenses & overheads allocated to the process. 

3- the output of a process is transferred to next process & becomes 

input for it.   

4-the finished output of the last process i s transferred to the 

finished goods account . 

 حٌّشحكًاؿشحءحص طىٍفش 
  ْ ٛ:ح َ حلأعخعٟ فٟ اؿشحء حٌظىٍفش ٘  حٌٕظخ

ً ػ١ٍّش. -1 ٓ حٌؼ١ٍّخص ٠ٚلظفع رلغخد ٌى  ٠مغُ حٌّقٕغ اٌٝ ػذد ِ
ُ خقُ كغخد  -2 ٚ حٌٕفمخص ًٚ حٌؼّٚطىٍفش  حٌّٛحد ِغ طىٍفش وً ِشكٍش٠ظ حٌّقشٚفخص حٌّزخؽشس 

 .ّشكٍشحٌّخققش ٌٍ  حٌؼخِش
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3-  ُ ٝ حٌؼ١ٍّش حٌظخ١ٌش ٚطقزق ِذخلاً ٌٙخ. ّشكٍشِخشؿخص حٌ طل٠ً٠ٛظ  اٌ
4-  ُ ٟ ٌٍ ٌّخشؽح طل٠ً٠ٛظ   حٌظخِش حٌقٕغ. شحلأخ١شس اٌٝ كغخد حٌزنخػ ّشكٍشحٌٕٙخث

Accumulation of costs 

In a process cost system procedures must be developed to:  

1. Accumulate materials, labor and factory overhead by departments. 

2. Determine the unit cost for each department. 

3. Transfer costs from one department to the next. 

4. Assign costs to work in process. 
 حٌظىخ١ٌف طـ١ّغ

َ طىٍفش  ً: حٌّشحك٠ًـذ طط٠ٛش اؿشحءحص ٔظخ  ِٓ أؿ
ً ححٌظىخ١ٌف حٌقٕخػ١ش غ١ش حٌّزخؽشس حٌّٛحد ٚحٌؼّخٌش ٚ طـ١ّغ. 1  .لالغخَِٓ لز

 . طلذ٠ذ طىٍفش حٌٛكذس ٌىً لغُ.2
ٓ لغُ اٌٝ آخش.3 ً حٌظىخ١ٌف ِ  . طل٠ٛ
ٓ حٌظىخ١ٌف 4  .حٌظؾغ١ًٌلإٔظخؽ طلض . طؼ١١

Flow of units 
The flow of units (in terms of quantity) through a process cost system can be 

summarized by the following equation: 
 

Units in process at beginning + units started in process or transferred in = units 
transferred out + units completed and on hand + units still in process 

 
When any four terms in the equation are known the missing component can be 

computed from the equation. Note that all the components are not necessarily 
present in each situation (i.e. there may not be units in process at the beginning of 

the period or units completed and still on hand at the end of the period). 
 

 طذفك حٌٛكذحص

َ طىٍفش   ـطذفك حٌٛكذحص )ِٓ ك١غ حٌى١ّش( ِٓ خلاي ٔظخ  رخٌّؼخدٌش حٌظخ١ٌش: حٌّشكٍش٠ّىٓ طٍخ١
 

ٟ طُ حٌزذء رٙخ طلضٛكذحص حٌ ٚ ِٕمٌٛش ح١ٌٙخ = حٌٛكذحص حٌّٕمٌٛش ٌٍخخسؽ +  حلأظخؽ رذح٠ش حٌّذس + حٌٛكذحص حٌظ أ
ٟ ِخصحٌض فٟ حٌؼ١ٍّش حلأظخؿ١ش.  حٌٛكذحص حٌظخِش + حٌٛكذحص حٌظ

 
 ِٓ ٞ ُ ِؼشفش أ ْ  حٌظفخف١ًػٕذِخ ٠ظ ٟ حٌّؼخدٌش ، ٠ّىٓ كغخد حٌّىْٛ حٌّفمٛد ِٓ حٌّؼخدٌش. لاكع أ حلأسرؼش ف

ً ِٛلف )أٞ لذ لا طىْٛ ٕ٘خن ٚكذحص ل١ذ حٌّؼخٌـش فٟ رذح٠ش  ؿ١ّغ حٌّىٛٔخص ١ٌغض رخٌنشٚسس ِٛؿٛدس فٟ و
ٟ ٔٙخ٠ش حٌفظشس(. ٟ ِظٕخٚي ح١ٌذ ف  حٌفظشس أٚ ٚكذحص ِىظٍّش ٚلا طضحي ف

 
: The Journal entries 

A- To record the cost to Process : 
 

       Process NO  (    )  A/C                    *** 
           Stores control                                        *** 
               Wages control                                       *** 
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                 Factory overhead control                     *** 
  

B -transferred Process A/C  to another :  
           Process NO  (    )  A/C                    *** 

                    Process NO  (    )  A/C                    ***    
C- transferred the last  Process A/C   : 

            Stores control  of finished  good       *** 
                                  Process NO  (    )  A/C                    *** 

       And : 
             Cost of sales           *** 

                   Stores control  of finished  good       *** 
  And : 

                      Sales Revenue             *** 
                           Cost of sales           *** 

Example 1:- Assume that the Beckerman Company had 1,500 units in work in 
process at the beginning of the month, put 5,000 units into process and had 1,000 
units in work in process at the end of the month. All units completed were 

transferred out to Department B. The number of units transferred is computed as 
follows: 

Flow units     
  1,500  Units in process at beginning  

5000Units started in process                      
6,500  Units available                                     

           1,000         Units still in process 
 5,500 Units transferred to Department B   . 

Out flow                                                6500 
 

Equivalent Units of Production  
To allocate costs when inventories of partially finished goods are involved, all 
units (beginning inventory, goods transferred, ending inventory) must be expressed 

in terms of completed units. This is done by means of a common denominator, 
known as equivalent units of production or equivalent production. 

Methods of Costing Work in Process 
(1) Average costing under this method also known as weighted– average costing, 

the opening work in process inventory costs are merged with the costs of the new 
period and a new average cost is obtained. Thus there is only one average cost for 

goods completed. 
Equivalent units under average costing may be computed as follows:- 

Units completed (Transferred out plus still on hand) + [Ending work in process X 
Degree of completion (%)] 

This method is based on the assumption that all the beginning work in process was 
started and completed during the current period. 
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Example 2:- The following data related to the activities of Department A during 
the month of May:- 

Beginning work in process   8,000 Units 
(100% complete as materials 70% complete as to conversion costs) 

Goods started in process   86,000 
Units transferred to Dept. B   80,000 

Units completed and on hand  4,000 
Ending work in process   10,000 

(100% complete as to materials 60% complete as to conversion costs) 
Equivalent production in Department A for the month, using average costing is 

computed as follows:- 
 

                                                     Materials                  Conversion costs 
Units Completed         
Transferred to Dept. B  80,000        80000 

Completed and on hand       4,000                           4,000 
Ending inventory units, amount completed:- 

Materials (100%)                 10,000                         ---------------- 
Conversion costs (60%)       ---------             6,000 

Equivalent production       94,000                       90,000 
(2) FIF0 Costing  

Under this method, the opening work in process inventory costs are separated from 
additional costs applied in the new period. Thus, there are two unit costs for the 

period: (1) opening work in process units completed and (2) units started and 
finished in the same period. 

Under FIF0, the beginning work in process is assumed to be completed and 
transferred first. The ending work in process is then assumed to be from the goods 
put into production during the period. Thus, ending work in process is calculated 

from current period unit costs according to degree of completion. 
Equivalent units under F.I.F.O costing may be computed as follows:- 

 Units completed (Transferred out plus still on hand) 
     -Opening work in process (regardless of stage of completion) 

+Amount needed to complete Beginning work in process 
     +Amount completed in Ending work in process. 

Example 3:-  Using the same data as in Example 2, we compute the equivalent 
production for Department A under the FIFO method follows:- 

                                                             Materials      Conversion costs 
Units completed          

Transferred to Dept. B         80,000    80000 
Completed and on hand       4,000                4000 

Less: Beginning work in process  (8,000)               (8,000) 
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Started and completed this period    76,000                76000 
Completion of Beginning Inventory units  

Materials                                            (0%)         0 
Conversion costs (30%)                             ------    2,400 

                                                                 76,000          78,400 
Ending Inventory units Completed  

materials (100%)                10,000 
Conversion costs (60%)                               .                    6,000  . 

                                                                  86,000                84,400 
Equivalent production under FIFO may also be computed by subtracting the period 

of beginning work in process that was completed during the previous month from 
equivalent production under average costing. 

                     Materials       Conversion Units 
Equivalent production average 

Costing (From Example 2)    94,000             90,000 
Less: Beginning work in process 
(Portion completed Last month) 

Materials (100%)                            (8,000) 
Conversion Costs (70%)                                                  (5,600) 

Equivalent production F.I.F.O costing  86,000              84,400 
 

Cost of production Report 
The cost of production report shows all costs chargeable to a department or cost 

center for the period. Since its principal objective is the control of costs, detailed 
data relating to total and unit costs must be provided. Typically, the cost 

breakdown is made by cost elements for each department (or cost center). This 
report is also a good source for summary journal entries at the end of the month. 

The cost of production report generally contains four sections: 
Quantities This section accounts for the physical flow of units into and out of a 
department. 

Equivalent production This section shows the sum of: - 
(1) it's still in process restated in terms of completed units 

(2) total units actually completed.    
Costs to Account for This section accounts for the incurrent of costs that were:- 

(1) in process at the beginning of the period 
(2) transferred in from previous departments  

(3) added by the department. 
-Costs Accounted for This section accounts for the disposition of costs charged to 

the department. Were the costs: 
(1) transferred out to another department or to finished goods. 

(2) Completed and on hand. 
(3) Still in process at end of the period. 
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It should be noted that the total of the costs to account for must equal the total of 
the costs Accounted for 

 
 ىٍفش حلإٔظخؽطمش٠ش ط

ْ حٌٙذف  ُ أٚ ِشوض حٌظىٍفش ٌٍفظشس. ٔظشًح لأ ٠ٛمق طمش٠ش طىٍفش حلإٔظخؽ ؿ١ّغ حٌظىخ١ٌف حٌّلٍّش ػٍٝ حٌمغ
ُ ر١خٔخص ِفقٍش طظؼٍك رخٌظىخ١ٌف حلإؿّخ١ٌش ٚحٌٛكذس. ػخدسً ِخ ٠ظُ  ُ فٟ حٌظىخ١ٌف ، ف١ـذ طمذ٠ ٛ حٌظلى ٘ ٟ حٌشث١غ

ُ حٌظىٍفش كغذ ػٕخفش حٌظىٍفش ٌىً  ٚ ِشوض طىٍفش(. ٠ؼذ ٘زح حٌظمش٠ش أ٠نًخ ِقذسًح ؿ١ذًح اؿشحء طمغ١ لغُ )أ
ٟ ٔٙخ٠ش حٌؾٙش.  لإدخخلاص دفظش ح١ِٛ١ٌش حٌّٛؿضس ف

:َ ٝ أسرؼش ألغخ ً ػخَ ػٍ ٞ طمش٠ش طىٍفش حلإٔظخؽ رؾى  ٠لظٛ
ً ٚخخسؽ حٌمغُ.  حٌى١ّخص ٠ٛمق ٘زح حٌمغُ حٌظذفك حٌّخدٞ ٌٍٛكذحص دحخ

   -حلإٔظخؽ حٌّىخفت ٠ٛمق ٘زح حٌمغُ ِـّٛع: 
ٓ ك١غ حٌٛكذحص حٌّىظٍّش1)  ( لا طضحي ل١ذ حٌّؼخٌـش ِ

 ( اؿّخٌٟ حٌٛكذحص حٌّىظٍّش رخٌفؼً.2)
ٟ وخٔض:  ً حٌظىخ١ٌف حٌّظىزذس حٌظ ُ طّؼ  -طىخ١ٌف حٌّلخعزش ٌٙزح حٌمغ

 ( ل١ذ حٌّؼخٌـش فٟ رذح٠ش حٌفظشس1)
 ( ِٕمٛي ِٓ حلإدحسحص حٌغخرمش2)

ً ح ٌمغُِنخفش ِٓ لز  (3) 

ٝ حٌظىخ١ٌف حٌّلظغزش   ٟ حٌظىخ١ٌف حٌّلٍّش ػٍ ُ كغخرخص حٌظقشف ف  :ٟ٘ حٌظىخ١ٌف ٚ٘زٖ. حٌمغٌُٙزح حٌمغ
ٟ طُ ( 1) ٝ رنخػش طخِش حٌقٕغ.حٌظىخ١ٌف حٌظ  ٔمٍٙخ اٌٝ لغُ آخش أٚ اٌ

 ٚفٟ ِظٕخٚي ح١ٌذ. شّىظٍّحٌظىخ١ٌف حٌ ( 2)
(3 )  ٟ  ضحي ل١ذ حٌّؼخٌـش فٟ ٔٙخ٠ش حٌفظشس.طلا حٌظ

ٝ أْ اؿّخٌٟ  ْ ٠غخٚٞ اؿّخٌٟ حٌظىخ١ٌف حٌّلغٛرشٚطـذس حلإؽخسس اٌ  .حٌظىخ١ٌف حٌّشحد كغخرٙخ ٠ـذ أ
 

Example 4:- The Vogel manufacturing corporation uses the first in first out 
method of process costing. The following data relate to the operations of 

Department A during the month of July 19X1: 
  Production (in units) 

Beginning work in process (100% complete as to materials:- 
(2/3)% complete as to conversion costs)  1,500 
Started in process                                                 5,000 

Transferred to Dept. B                                         5,500 
Ending work in process (100% complete as to materials:- 

60% complete as to conversion costs)                   1,000 
 

Costs in Beginning inventory                                                                              
Materials    $1,680                                                                                                   

Labor              1,400                                                                                                   
Overhead    1,120                                                                                                  

Cost Added during the Month 
Materials   $10,000 

Labor     8,500 
Overhead    6,800 
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The July cost of production Report for Department A is shown below: 
The Vogel manufacturing corporation cost of production Report, Department A   

F.I.F.O cost method for the month July 19X1 

1) Quantities 

Units in process at Beginning  1,500 

(All materials; 2/3 conversion costs) 
Units started in process      5,000     

Total units to  account for                        6500                 
Units transferred to next Department    5,500 

Units still in process  
(All materials; 3/5 Labor and overhead) 1,000       

6500   Total units for accounted                         
 

2) Equivalent production 

                                                        Materials  Conversion costs 

Transferred to next department    5,500   5,500 
-Beginning inventory (total)       1,500                  1500   .  

                                                              4,000                  4000 
+Amount needed to complete  

beginning inventory (1/3)      0                        500   . 
                                                                 4,000                 4,500 

+Ending inventory     1,000                 600   . 
Equivalent production                             5,000                 5,100  

  
 

3) Costs to Account for  
                                                                            Total Cost          Unit Cost 
Work in process, Beginning Balance           $4,200 

Costs Added during month   
Materials                                                     $10,000                 2,000(a) 

Labor                                                           8,500                            
1.667(b) 

Factory overhead                                        6,800                  1.33(c)   
Total costs added                                       $25,300                   $5,000 

Total costs to Account for                          $29,500 
Computations Unit Costs 

(a) Materials: $10,000/5,000 =  $2,000 
(b)Labor: $8,500/5,100 =  $1.666 

(c)Overhead: $6,800/5,100 =  $1.333 
 

4) Costs Accounted for      
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Transferred to next Department 
From Beginning Inventory (1500 Units) 

Inventory Value                                $4,200 
Labor added (1500 * 1.667 * 1/3)    833 

Factory overhead Added (1500 * $1.333 * 1/3)  667   
Total cost, Beginning units        $5,700 

From current production; 
Units started & completed (4000 units * $5.00)   20,000 

Total cost (beg + started and completed)            25,700 
Work in process, Ending (3/5 completed): 

Materials (1000 * $2.00)                        2,000 
Processing costs (1000 * 3.00 * 3/5) 1,800       3,800 

Total costs Accounted for                       $29,500 
 

Example 5:- If the Vogel manufacturing had used the average costing method 
instead of F.I.F.O, its cost of production report for the month of July would have 
appeared as shown below. The data are the same as in Example 4 

The Vogel manufacturing corporation cost of production Report Department A 
Average costing method for the month of July 19X1. 

1) Quantities 

Units in process at Beginning 
(all materials 2/3 conversion costs) 1,500 

Units started in process                       5,000     
Total units to be account for                   6,500 

Units Transferred to next Department  5,500 
Units still in process  

(All materials 3/5 conversion costs)   1,000       
Total units for accounted                   6,500 

 
2) Equivalent production:   

                                                                Materials            Conversions Costs 
Transferred to next department   5,500                 5,500 

Ending work in process: 
Material 100%            1,000 

Conversion cost 60%                                                         600 
Equivalent production           6,500                   6,100 

 
 

 
 
3) Cost to Account for:                           Total cost      Unit Cost   
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Work in process, beg. inventory    
Material      1680 

Labor                    1400 
F.O.H              1120 

 
 Cost add during period: - 

Material      10000               1.79692(a) 
Labor              85000                  1.62295(b) 

F.O.H              6800                   1.29836(c)  
Total cost     29500   

 
Computations 

(a) Materials =  (1680 + 10000) /6500 =   1.7962 
(b) Labor =  ( 1400 + 8500)/6100     =   1.62295 

(c) F.O.H =  (1120 + 6800 ) /6100   =    1.29836 
 
4)Cost Account for:  

 Cost of units transferred to next department : 
 ( 5500 * 4.71823)        25950 

 Cost of work in process, end. inventory    
Material  1000* 1.7962 =   1797 

Labor        60% * 1000*1.62295=  974 
F.O.H    100%  * 1000*1.29836=       779  3550 

         29500 
 

Exercises 
 

, input  unit  to process 2 as 200 unit  at $3 per unit  2008In 1/1/ (1):Exercise 
The elements of cost add to it for 1/1 – 31 /12 2008 as below : 

                    direct material       $ 6000                
                    direct labor             $ 5400 
                    Factory overhead    $ 3400  

   Units transferred to process 3      1500 unit 
  Ending work in process     500 unit  

(100% complete as to materials 60% complete as to labor  & 40% complete as to 
Factory overhead   ) 
Prepare process 2 Account 
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:)2Exercise( 
In 1/1/2020, input  unit  to process 3 as 5000 unit  at $12 per unit  

The elements of cost add to it for 1/1 – 31 /12/ 2020 as below : 
                    direct material       $ 14250                

                    direct labor             $ 18680 
                    Factory overhead    $ 13770  

   Units transferred to Stores      4200 unit 
  Ending work in process          400 unit  

(100% complete as to materials 80% complete as to labor  & 60% complete as to 
Factory overhead   ) 

Spoilage units  400 unit sold at$ 4800  
Normal spoilage rate   5% for input units  

Selling price $ 30 per unit  
Prepare process 3 Account 

 
):3Exercise( 

In 1/1/2016 Beginning work in process (2) as 400 units with total cost $ 6400 

($4400 direct material ,  $1200 direct labor,  $800 Factory overhead  )  
 (80% complete as to materials 60% complete as to labor  & 50% complete as to 

Factory overhead   ) 
500 New  units started in process at $12 per unit  

 Cost Added during the year : 
  Materials   $10700 

  Labor     $13890 
Overhead    $9020   

Units transferred to next process (3)   4400 
Ending work in process   600  (100% complete as to materials 80% complete as to 

labor  & 60% complete as to Factory overhead   ) 
  Spoilage units  400 unit sold at$ 12 per unit  
Normal spoilage rate   5% for input units  

 
Prepare process 2 Account 

 A-  using average costing      B  - under F.I.F.O costing 
 

 
 

 


